
� � � � � � � � � � 	 � 
 � � � � � � � 
 � � � �

�������
���	
��

��
�������
��
��
���
�����������	��������
 ���
 

���

�!�	
��

��
����
�����
����
����
��
������
����� �	 � 
��

!�"�����
�������
��� ���
��� �
�#����
����
��

$�"�����
������

��%
��%���
��
�����&
�'��������
��

(�"�����
�������'
�����
�)������*�� ����
���������
 ��
� � +����
��
����	���

,��"�����
�������
���� ��
�
��'
�����
���-�
���

,!�"�����
����
��������
���
��%�
��������
�����
��� ���%�-'
���

,.�"�����
����+/�
�� ��������#��������
����&'��
��
 ��

,(�"�����
���,$�0��#����
����
��% ������ ���1 
��� ������
� � �%2
��
��
��������
�

�0�"�����
����3
������ �
������
���#��������
����&' ��
��
�

,,���'

��
����%�%
���
��'
���
��
�2������
���%���
 ��

���� � ���������
�
� � ��	
� ��


�����	�	��� �	� �
� �����
����� ��� ����
�	� � �	����� �����	���� 
��
��	�����	��	
�����	������	���	�����	��
��	�
���	��	 �������	�����	�	������	������
��
�	���	�������	����
������� ����
��	����	!�
� �����"
� �������
����� 
��#����	� �	�� 	��	���
����� �	 �� �
�	���� ������	�� 	�� �	� �
�
����
��
����� ����� 
��	����� �����	���� ���$�
�����	�� ���	� ��	��	���
��� �� �����

��������
�
���
����
	��������	�
�
��	��������	��
� �	�!�
� %��&�'����	��
��(�)	��	���	��������	����	���	����	 ���	������

����	��
����$�	�
�
��	����	��	�������	��
����	���	���	��	��
�������� �!�
� *���
��� ��� �
���� ����� ��
����� �
����� �	�� 	��
���� � � �	�� 	��	���
���� �� �	�� �
�
�	����������	���	��������+�	����������	�����	�	���� 
����
���!�
� %�
���	�����#	��������	��
������	���
���
������
�� ����	���	�
���	���
������
�
������	���
�
�	��	��
��	��	������	��$���


�	���	�
 ��	��
���
�
�������
	��	��	���
��

�	��	� �������,�$�	�-���
��
���	.��/��	�
� ����
���� 0������

	�1�����$�	��2��
���
�3�� ��
���
�	�	��� �	� ��
�
�	�� �	��
��� �	� �	���� � � 	�� �	��
��� �	� ������ �����
���
��	�!2
��
���	��������

$����������	��
��
����� )����	�4	������	����
��	�	���
�
����������
�
	��
��	��
�+��	�	��	
���	�������5
���� 	!��
� 6���������	7�
����
�	���
���
	��������$�	�����	�
� ����	��	��
�$�	��
��
�	��8�
����	�	��#�	����	�$�	�����������	�	7��
���
	 ���
�	���	��������	���
�9�
$�	�������$�	������������	7���������	�������	����
� ����	�	����	��
�
�����	�	��
�	������������������	���	����	������������	���
���� 	��

��������
���
�
���	��!�
�
� � � � � � "	��
��	��)	��	�%�4�:�� �
� � � � � � � � �

���� ��� � �� � �	��� � �� � �	��� � �� � �	��� � �� � �	 
�
�
�
� �
 ��
 ��
 ��
 � ����

�
���	������4��"��

�
,-�
������
��

5�33�67��4��7����3�

����������	
�	���
�	 �	

������
������		
�	�������	 �	

���	�����������		 ���	

��	������������		 �	

���	�����	
�	�������		 �� 	

�-������
��3�	��		"�7�67"�	�

��!"�#	 $%	

����	&���������	 $%	

��	'�����	����	 $%	

(������		
��	
��
�����	 $$	

��(��)	 $$	

��	��
�����		 $$	

����	
�	#����		 $�	

*�����	����
����	 $�	

)�����
�	
��	��+����
�		 $�	

���	,
���������	 $�	

#�
��������	 $-	

�����
�	
�	.�
��		 $-	

,/�	+�������
�		 $0	

'�
	1	���
�	 $0	
������		 $0	

&���	�
��		 $0	

������	
��	23���	 $�	

���
���	 $�	
(���
����		 	

0-������
���87�����8733���� 	

���	����	
�	+�/���		 $4	

53���	
��	���
���
�	 $4	

�����8��6�����
��'
����
�
�
��
��

$�	

97	6"7������8733����
����'�
���
��
���������

$��
$ 	

��
���			 �%	

7�+"	����67:��	� ���

�



� � � � � � 
 � � � � � � � � � � � 	 � 
 � � � � � � � 
 � � � �
���

���
���

���
��	


��
���

���
��	

	
�
�



��
���

���
���

���
��	


��
���

���
��	

	
�
�



��
���

���
���

���
��	


��
���

���
��	

	
�
�



��
���

���
���

���
��	


��
���

���
��	

	
�
�



��
�� ��

��"476��������+��	����	�5�����;�����"	6��
������5����<��9�33�=��5�6�
���"�>�	6����

�

��375���67"�	�����"�	�73��4��7�7��3��

	������� ��0?�@?��,� �	

������ ����� �
�� 
����%�� �
� ���'� A� �� �� ��� �%������ ���� �
�
��
A�
������
�����
%���


����� �
�B-

�������
�

� �������
	��	���
�	��2�
��	���	����
��	
�	�������		
 �	
��	 �
���
�
�	 
������	 
��22
��	 ��	 �	 ����	 ����
��	 ��� ���	 ��	
%46%06�%$%	 ���
	 ���7�������	 ��	 �������������	 
����	 0���	
������8	���
	�������	�
����
�9	

	 ��	 ����������	 
�(����	 
�:22
��	 ���	 �����	 
�����	 1	

��7	
��
����	��	���
�	$06%46�%$%	���
	����+�
��
�	 
��	��+�����
���	 ��	 ��	 +��

�
�	 $�6%46�%$%	 ���
	 ������/��	 
��	 �% 	 
�����
�	

�;��	 ��	 �	 
�����8	 �����	 ���	 �
���
��	 
�	 <�������	 
 ��	 �22
��	
��������	 
���	 ���+��	 
�	 ���������8	 �����	 �����	 ���	 �22
��	 ����
�����������	 ���	 ����	 �+����������8	 ������	 
��	*��
� �
����	����
+�����	=	

=� ���� �C�,� D� ����� E '�
=4�F���
��
 =	 ��*��
��
���	 �+6 	 >$ 	

��	 
�	 ��������	 -$	�$%	 ����
�<���?	 ���
	 ��	 �������	 
�	
,BB!0G,��H�96 	

�	 	 ���� �C���D������
��
=�� '
�� �
�=�5�����
 	 =	 ��*��
��
���		
6��� �
� 5��� ����
 	 >$	 ������	 
��	 #�����
��	 4�	-�%	 @��
�?		
���
	��	�������	
�		 00@(!G�!��H�96 	

�	 ���� �C�0�D4
� ��
��
� �� 
��� 
 	 =	 ��*��
��
���	 844� > 	 �+��
���	
�(A�
��7	4�	%%%	'�
���?	���
	��	�������	
�	 ,!�B�G���H�
96 	

D���� �C�B� D� ��I��
��
� D� ����
���
� � 	 ��*��
��
���	 � ����� 	 >�4	
(+����	 ��
���	 &�����
��	 4�	%%%	 '�
���?	 ���
	 ��	 ���� ���	 
�		

,�B.�G�$�H 	96 	

B	�� �� �
� ���� �C�!�D�4
� ��
��
�5��� 	=	 ��*��
��
���	 4
� ���
��
��
��
 �� �
� 5�����
� >0 � &��	 
��	 
�	 ������
	 ,�����
	 4�	4%%	
"�����?	���
	��	�������	
�	 00��G����H�96 	

D� �� �� �
� ���� �C�@� D� ��
�������%� D� ���
�
��
 	 =	 ��*��
��
���	
	�7��	 ��" 
�� 		>$%	&����+�

	)����
��	4�	%%%	'�
���?	���
	
��	�������	
�	 $.@��H�96�

	 �������
	 ��	 ���
�	 �
�����	 ��7	 ����
��	 
�	 ��(�����
����	 
�	 ���+
�	 ���	 �+��	 
�	 ��	 ����������	 
�(����	 
� �22
��	 ���
	
���	 4	 ����	 ���
	 ��������	 ���	 ���
��
���	 ���	 �
����2 ���	 �����	
�����	 ��	 ����	 �+���������	 ��������������	 ��	 
���	 
� ���
����
	
���	 ��
����	 ���2�
������	 ��7	 �
����������	 �����
��� 	 ���

�����9		 �������
	 ��	 ���
�	 �
�����	 
�	 
����
�
	 ��	 ���� �C.�
�
��� �
=�
'/�


�����
������ �����	 ��2� �� 
 A 9		

#��
	��	���	�C�8	��	�
�����	
���	
�	�����
	��	��
�� �	�������9		

(�
��	��	�+��
	
�����
�8	��	�������8	1	�����������9 	

�	���
����	���	4	����	
�	�������	
��22
��	>���	�C$� ��-�0���4?	
����
��2	1	��	
����������	
�	��	0���	������	���2�
������ 	��	
���
���
��2	
�
���	���
�����8	

�	 
����
�	 ��	 ���	 �C	 �	 #�����
��)�+3�������	 
�	 "���	 B	 �����	
�����	 ��2
������7	 ��	 
����	 ���+��
	 1	 �������
	 ��	 �� �
�	 ���
	
�����
	���	�
���
�
�	
�	��
���	�������9		

�	
����	���+��
	1	�������
	��	���
�	���
	���
����
	 ��	���	�C	�	1	
��*��
��
���	 ���	 ��
�	 
����
��	 �����	 �����	 ��	 ����7 	 
������	
�����	1	��	�
���
�
�	��������8	

� ���	�������	
�	2�
����
�	
����	<��
���	��
	�������	 
�	��	�����	
�	
#��/���
��	>	 ��	 ��
�
�
�?	 ���	 ���	 ���������	9	 ��
�� ����	 ��������	 ���	 
�<1	
+�	���
�	��
��
��	
���+�
��
�	
������
	
�	�����
�	� ���
�����	>�������8	�����
��������	 ���
�	 ���
��	 	 ?	9!��	 �
�������	 
�	 �������� 	 ��
	 ���	@�����	 #/
��
����	��
�����	��������	9	

	 ��+���	 ��	 
�����8	 ��	 ������	 
�	 
�2����	 
���������	 
��	 ����	 ��	 
��	
�����
�	+����	 
�	 ��	 �
��
	 �����	1	 ��	 
������	 ������ ��	 
�	 �$	 "������
�	 
�
�
���
	1	��	���
��9	D���	�+�A	��	�����
	
���	���	���� ����	�
���
�����	���	�����
����	
��������	������������	
�	�����	����
�9	.���	� +���	
��������	00%	��������

��	 ��
	 ��	+������8	 ���	 ��	 ������	 ���	 ����	 
�����
	 1	 ��	#
�2����
�	 "���
�	 ��	
"������
�	��
�	
�	
������������	�
�+�9	#������
�	�� ������	�+�����	�����	
����	����
��	���
�	���������	>��	����	--%%	���	���	 
����������?9		

	 (�<��

����	8	��	 ������������	 
�	 ������	 
����
�	 �� ��	 ���	 ��
��������
���	 =	 
����
��	 
�������	 +���	 3�
�	 ��+�������	 9.���� ���A	 ���	 1	 
�<���

�	 ��	
������	
�	
�2����	9"���������	���	��	��
������	
�	� �	#����	���
�	�����

�	��	
����������	9	

�"44��7:���

�
���
��
 �
�����%���
����������=
'
� 
��#����
����
�� �� J
���
����
��'���������
�����
������������
�
��

 �
�G�

� �2�����%'��
�� �������
���
��
�
���%����%

����#����������=
��&
��<�J
�'� ���

���
������
�
��
��'� ������ �'
���
��'������
��=
������GK
�'� ��
���


���
�G��

� � 3
�4���
��

��
���������� �� �
� � ���

��%���
������G��"�	6�6�

8��
���%���
�����9G���	�"��6�

6�%����-�
� �� �G� 5�6"���6���������
	
��%����
���KGG��733��4���

4

��
���4GKG5��"���6�

�������������G�7�6���	�

� ��+G�"��67�����

������������KG4G��9�8�37���

������������	G���5�6��

��
��% ������ ���1 
�����2��
������
���
��%' 
��
�4�����,(�"�����
�#�,$�0��
#����
����
���'
���
��
��������
��&���=
�����
��������
�	�%����
�6� J��� �



� � � � � � � � � � � � � � � �
� � � � � � � �

�� ��
���

���
���

���
�	


���
���

���
�		


��


�

�
���

���
���

���
�	


���
���

���
�		


��


�

�
���

���
���

���
�	


���
���

���
�		


��


�

�
���

���
���

���
�	


���
���

���
�		


��


�

�
�� ��

�	����
���	�������
	��	���
�	1	�����
	����	���	
��� �����	
�����2�	1	
��	��
���8	


��	���	���	�
�
���	��������
��	1	��	
������	����	� ���
���	��	&�
�
���	#
�����2	�%$%	

	

5 ��
����2�����


�����,��

� *�	 �������	 
�	 +�
������	 
��	 ���+�������	 ��	 �2��	 
�	
���+��
	2������
	 ���	 �
�+��7	 
�	 ��	 �����
������	 
�	 ��	0 ��� 	 ������8	
��
	�
���������	
�	�������
	��	���
�8	��	�������	�� �������	
���
�	=	

��	���������
	���	�����	
�	�
���
�
��	
���	�������	 
�	$�%	%%%	
E	��	
�������
	���	������������	���
��	
�	�
���	��� ����	=	�	������	
�������
�	 ��������	 >(�
������?	 8	 �������	 
����
���	 >'�
���?	 ��									
��
�
��	��
�����	>'�
���?	

������
�J�����


���

� ��	�������	����
��	�	2���	���	���
�	��
	��	<������� ���	
�	
��	�������	
�	#��/���
��	��	����	�
�����	�������	
� 	$%	�������7	
���
	��	�
�7	
�	$	�%�9�%	E	@'9	

	 (�
��	 ��	 �+��
	 
�����
�8	 ��	 �������	 ���������	 
��� 
�	 1	
�����������	
�������
	���	�������7	��	����
���	���� ���
	��	���
�	1	
�����
	����	
��������	
�����2�	1	���	�����9	

�

	������� �,(?�.?��,��

	

�8����� 
��
����+������
�
����
���
����6
 �
�
��

	 D�	��	
�����
�����	
�	�6%46�%%-8	����������	��	#D) 	��
	��	
��

����
�	 
�	 ��	 �������	 
�	#��/���
��8	 
��	#D)	 ��� ��2�����	 ���

���	����������=	

											)��	 
�	 ��	5�������	 	 ���
	���	 ��
������	 . C$-%8	$-$8$�%	����
����	�9	

											����	 
�	 ��	 '����
�	 ���
	 ���	 ��
������	 .C ��48	 ���8	
$%� 8$%��					�������	�9	 	

	 ��	 �������	 
�	 ���	 #D)	 ��
���	 ���������	 
��	 
������ ��	

��	
�+��	
�	"�*	��	
�	��F�	
�	��������������	
��	� ����������	���
	
�������	��	���������9	

	

	�������������
�� ���� 	�

	 (�
��	 	 �7����	 
�	 �
	 ��	 ���
�	 ���
	 ��������
�����	 
 �	
�������
���	 ������	 �����	 ���	 �����	 
�	 ��

���	 
�	 
� ��/8	 ��������	 �
��
����	��	��+�����������	
�	$�	%%%	E	@'9	

	 #���	
�	2���������� 	=	$�	%%%	@'6$�	 0%	E	''�	

�%	G	
�	���+������	
�	@'	��
	��	"�*	=	��	%%%	E	

5��
�	�
��
��	=	�	�%%	E	@'	

'D(	
�����
��	��
	��	"�*	=	�	 0%	E	

	 (�
��	 ��	 �+��
	 
�����
�8	 ��	 �������	 ���������	 ���
 ��+�	
��
	  	+��7	 ���
8	$	+��7	 ����
�8	 �	 �����������8	 ���	 �
�+��7	 ������	
��
	��	"�*	��	��������	1	��
����
	��	�����	
�	�	�%% 	E	@'	��	"�*8	
���	��
�	�
���+��	��
	���	2��
�	�
��
��	
�	��	����� ��9	

8����
������'� A���,��

	 (�
��	 
������	 
�	 ��	 ����������	 +��
��8	 ��������	 �
 �����	
���	�
�+��7	���+����	=	

'
�����	2�
��	 =
��	
��	������8
��	
��	#/
�����	>��
���	�����?	

'
�����	���
���������� 	=	����	
�	��������	

	 (�
��	 ��	 �+��
	 
�����
�8	 ��	 �������	 ���������	 +��� 
�	 ��	
�
���������	��	����
���	�
	��	���
�	1	�����
	��	��� ���������	���
��	

��	���
��
����99	

	

8����
������'� A�� ��
�� A����

�%��
��� �,0G�@G��, ��

� !�	
�+��	�	���	������	���
	��	�������	
�	$%	-��	E	@ '	��	
�����
��	��	������	
�	#�����	��	��	������	
�	&���9	 !�	
�����
	
���	
3�
�	���������	�2��	
�	
����
�
	���	��
�	��	������� 	,���
��9	

	 (�
��	 ��	 �+��
	 
�����
�8	 ��	 �������	 ���������	 
��� �	 ���	
����

	���
	���������������	
�	
�����
	��	���	�
�+� �7	1	�22�����
9	

5 ��
����3���
��
���%���
��
<��

4�������,!�����H<�� �%
�,�����
�� '
����
G�

�������
	 ��	 ���
�	 ����	 ��2�
��	 �����
��	 ����������� �	 
�	 �
���	
�������	=	

&�����	�������
� 	=	���7	
�����
3��	*:.H(	I	��
��	%9��J	%9� � G	

������	
����
��� 	=	���7	
�����
3��	*:.H(	I	��
��	%9 %	J	$9-%G	

�
�
��	��
����� 	=	���7	
�����
3��	*!)H&:)	-	����	��/����	I	��
�
��	%9��	J	$9� G	

	 (�
��	��	�+��
	
�����
�8	��	�������	���������	�	�� 
��	���	
����7	��
	��	&�����	#������
�	��	����
���	�
	��	��� 
�	1	�����
	����	
���	
��������	��������
��	1	�����	�����	
�	�
���
�
 ��9	

����
����������
�
��%��
��

	 (�
��	 ��	 ������	 
��
�	 
�	 ��	 
������	 
�	 ��	 �������� ��	
�����8	 ��	 
����������	 ����	 ��2�
��	 
�	 ��	 ���������	 
�������
	 ��	
�����	�������
	���+���	=	

!�	�������	�+��	�����
���	���
	��	���+����	������	

K���
�	������	��
���7	

�������	���
	��	������	
�	��	����
�����	

!�	��
���	���
	��	���+��	����������	

"���
�����	���
	�
����
�	

����
���	���
	��	�������	

	 #��
	���	�����	
�	��%%	E	@'9	

	 (�
��	 ��	 �+��
	 
�����
�8	 ��	 �������	 ���������	 ���� 
���	
�������
	��	���
�	1	�22�����
	���	������9	

�

� ��&���%� �
�� ����J
�����
%���


���

� (�
��	 	 �7����	 
�	 �
	 ��	 ���
�	 ��
	 ��	 �
�<��	 
������� ��
����	 
�	 ��

���	 
�	 
���/8	 ��	 �������	 
�	 #��/���
��	 ���������	 ��	
��'	 ��	 �
�+�
�	 
�	 ��('*"('	 ���
	 
������
	 �����
�	 
� 	 2����������	

�	��	�
�<��9	

	

������������L�3
������� ������M����

���
��
��
���� 
�����
��

� (�
��	�����
�	
�	���

��
	
�	�������������	���	���� 	�	���	
�

����	��	
����
���	
�	�����	�������
8	

	 (�
��	��	�+��
	
�����
�8	��	�������	���������	���	 
�����

	
���
	�22
�
	
��	������	����9	

	

������ ������ �
����%��
��� �
��� ����
A�
�������
� ��%���
��
���
���
�

� ��	 ���	 .C�	 
����
�	 ��2
������7	 	 ��
�	 
�	 ����+�
��
� 	 
��	
����8	 �	 ���	 ���
����	 1	 �����
��
���	 ,:&H.	 ���
	 ��	 � ������	 
�	
$$	%�08�-	E	''�		

	

����
������A��
����������
�
���
��������
��
�

� (�
��		�7����	
�	��	
����������	
�	��	����������	�� ���8	
��������	�
�����	
�	��	���	��������
	��	�
�7	
�	��	 �������	��	
�	��	
��

�
��	���
	�������	������
�	�%$%6�%$$9	

	 (�
��	 ��	 �+��
	 
�����
�8	 ��	 �������	 ���������	 ���� ���	
�����	�
���������9	

	



� � � � � � � � � � � � � � � � � � 	 � 
 � � � � � � � 
 � � � �

���
���

���
���

��	

��

���
���

��	
	
�

�


��

���
���

���
���

��	

��

���
���

��	
	
�

�


��

���
���

���
���

��	

��

���
���

��	
	
�

�


��

���
���

���
���

��	

��

���
���

��	
	
�

�


��

�� �� 	������� ���?�(?��,��
�

�
%���


����
������ ����%���
�
��%1 ��


��������� �2��

� "�
	�
���������	
�	��	����������	�����	��	��
��	��	
�+��
	 
�����
�8	 ��	 �������	 ���������	 
���
�8	1	 ���� �������8	 
�	
���2��
	���	�
�+��7	���+����	=	

(	 �����
��
���	 �("(�	 "#:)'	=	 ��	 2��
����
�	 
��	 ���� �
�������	���
��2�	���
	��	�������	
�			�	-%49 -	E	
@'	

(	 �����
��
���	 �(�(D*	=	 ��	 ��L��
�	 
�	 ��

���	 ���
	 ��	
�������	
�	-	�$�8%%	E	@'9	

	 (���
���	 �������
	 ��	 ���
�	 1	 �����
	 ����	 ���	 
����
�����	
�����2�	1	��	��
���9	

	

6��'� A�'����
�

� 5������	�����	1	�������	
��22
�8	����
�	���
��
���� 	���	

����
�	=	

)�����
�	
��	#/
�����	���
	���	�
��������	
�	��	��- 8�%	E	@'	

#����	��

�	���
	���	�
��������	
�	��		�� 8�%	E	@'	

�����	���
	���	�
��������	
�	-�	�-%	E	@'	

"�)*,	���
	���	�
��������	
�	-4	��-8 �	E	 ���

H�������	 ���
	 ���	 ����
�	 
�������	 ��	 �
�����	 ���
��
���������8	 �������	 ���	 ������������	 
��
��������	 ��� ����	��� 
��
�
�����������

(�
��	 ��	 �+��
	 
�����
�	 ��	 �������	 ���������	 	��������
���� �
�+��7	 1	 �����
��
���	 #����	 ��

�	 ���
	 ��	 �������	 
�	
��	�� 8�%	E	@'	��	����
���	�������
	��	���
�	1	���� �
	����	���	

��������	
�����2�	1	��	��
���9	

	

�'
������ A����'� A���
A�
�������
���%���
����
���
 G�

� ����	 ��	 ��

�	 
�	 ���7�������	 
�	 �������	 �
����
�8	 
 ��	

�������	������������
��	���	���		
��������9	

	 ���	.C�	=	'����
�	&����

���							�$�08��	''�	

	 ���	.C0	=	,������	 	 						$$� 8$�	''�	

	 ���	.C4	=	"���	 	 						�%�%84$	''�	

(�
��	 ��	 �+��
	 
�����
�8	 ��	 �������	 ���������8	1	 �� ����
������8	 �������	 ���	 �
����������	 ��	 ����
���	 �
	 ��	
���
�	1	 �����
	 ����	 ���	 
��������	 
�����2�	1	 ��	 ��
 �
���9	

	 �

���'
���������
�����������
���� ���
��'
���
�	>4�6�

� (�
��	�7����	
�	�������
	��	���
�8	��
	������������ ��	

����	 �������	1	+�

�	 ��
�����8	 ��	 �������	 �������� �8	 ��
	  	+��7	
���
8	�	����
�	����
���	��	"M�('	1	��������
	�����	 �������	��
	
��	�������	
�	#��/���
��9	

	 ��	 �������	 ���������	 ����
���	 �������
	 ��	 ���
�	 1	 ���
���
	��	���+������	
�������������	��	
������9	

	

��%�������� �
�N���)O��
����
%���


�����22%�%
*�

� (	��	
����
�	
�	��	��(�*8	��	�������	���������8	��
 ��	
��	 �+��
	 
�����
�8	 ��	1	 �����������	 
����	 
�������� �	 
�	 ������
������	1	��	��(�*	���
	��	�
������	
�	��	N(�	
�	O	� ��������	P	
���
	���	��
������	.C-8	.C48	��	.C�	�������	Q&9	

�

���
��
�� �'
������������,�G�

	 (�
��	 �7����	 
�	 �������
	 ��	 ���
�	 ��
	 ����+������� �

����	 �%$%8	 ��	 �������	 ���������	 ����
���	 �
	 ��	 ���
 �	1	 
�����

�
	 ���	 ���+������	 ��	 ���
�	 
�	 ��	 ��)	 ���
	 �������� �����	 
����	
��
���	
�	��	�
��
����	"�
����	&�
���9	

�

�����������
����	���������������
����	���������������
����	���������������
����	����� ���

����

�������������������
���	������������	���� !"#�

��������
����
���	��������#�

�
 ����������� 	������������	�����������������	��
�	� ���������	�
���$
�������
����	���������	����
����
����
�����%������� �&!&�'�

�

	
����������'
�����


���D��%�
��
��

�������
��0 � =	 	 	 	 	
	 		 																			 5 ��
� 	

������
��0,0���%������ 	$$	='
�+��7	&R�������=	- 	�� 9$�	E	

������
��0,0���%�������,� 	=	D��
��	=	 														�%	%%%9%%	E	

������
��0,0���%�������,B 	=	(����������	= ����(�)���&&���

*���������!������	�����!
*���������!������	�����!
*���������!������	�����!
*���������!������	�����!
 �'�+������,���	����'��(�&&&�&&��� �

�

(�
��	��	�+��
	
�����
�8	1	�����������8	��	�������	 ���������8	

(���
���	��	
�������	��
�2�����+�	���+����	=	

�������
��0 	=	 	 	 	 	 												
������
��0,0���%�������,, 	=		

					'
�+��7	&R�������	=	>I	$�%%%	E?				 		�$	�� 9$� 	E	

������
��0,0���%�������,. 	=	

					,
����	"�����
�	=	>I	$�%%%	E?					 	$-�	%%%9%%	 E	

������
��0,0���%�������,� 	=		

					D��
��	=	>�$$%%%	E?	 	 	- 	%%%9%%	E	

������
��0,0���%�������,B 	=		

				(����������	=	>�$4%%%	E?	 					 	� -9%%E	

�

�A�
�������
���%���
����
���
G�

� ����	��	��

�	
�	���7�������	
�	�������	�
����
�8	� ������
	
��	���
�	�
�����	��	�������	���������	=	

			��	
�����
	�����
��
���	":�:'*�	���
	=		

��	�������	
�	�'�	���
	��	�������	
�	�-�%8%%	E	@'	

��	�������	
�	"#"	���
	��	�������	
�	$%��8�%	E	@'	

			��	 ���2��
	 ���	 �
�+��7	 
�������������	 
��	 +����� 	 
�������	 1	
�����
��
���	 S�������
��	 
�	 &������	P	 ���
	 ��	 ����� ��	 
�	
-�%�8%%	E	@'9	

(�
��	 ��	 �+��
	 
�����
�8	 	 ��	 �������	 ���������8	 1	 � ����������8	
�������	���	�
����������	��	����
���	�
	��	���
�	1	 �����
	����	
���	
��������	
�����2�	1	��	��
���9	

7��

���%��
�����
���� ���
�����
�� ���%����� �����

��	�������	���������		

D�	���
�����	 �	
�	��	���	�C��9�$-	
�	�	��
�	$ ��	� �
�2��	
������
+�	 ��7	 

����	 ��	 ����
���	 
��	 ��������8	 
��	 
���
�� �����	 ��	

��	
������8	

D�	 ��	 
��
��	 �C��9 � 	 
�	 $ 	 ��+���
�	 $ ��	 �
������� 	 ���	
���
������	
����
��	
���
�������	��
	���	��������+� ���	��

���
���
���	 ��	 ���
�	 ��������������	 �������	 ��7	 ������	 
��	 ��
+����	
�7��
���
�	
�	��*���8	

D�	 ���

3��	 ����
�������
���	 
�	 $4	 �������
�	 $ �-	 
 �����2	 ��7	
��
�������	 ��������	 ��
	 ���	 ��������	 ���
	 ��	 ���2�� ����	 
��	

��������	��
�����
��8	



� � � � � � � � � � � � � � � �
� � � � � � � �

���
���

���
���

��	

��

���
���

��	
	
�

�


��

���
���

���
���

��	

��

���
���

��	
	
�

�


��

���
���

���
���

��	

��

���
���

��	
	
�

�


��

���
���

���
���

��	

��

���
���

��	
	
�

�


��

�� ��

����
�	=	��
	$-	+����		���
	��	$	����������	

��	 
����
�
	 ��	 ������
�	 
�	 
���+��
	 ���������	 ���
	
����
�
	
��	�
���������	
�	�������	��		

������

�
	 ����
������	 
�	 �������	 ��	 ���7	 
�	 $%%G	 � �
	
��	
���	�������	
�	-��8��	E	�
��9	

K��	�����	��
������	��
�	��������	�����	���	�����	
 �2��
����	1	 ���
�����	0	 
�	 ���

3��	 ����
�������
���	 �
� ����	
��	 ��
�	 ���
�����	 1	 @������
�	 �������8	 
���+��
	
���������9	

��	 ���	 ����

�
	 ���������	 ����
������	 
�	 ���2������ 	

��	 
��������	 ��
�����
��	 ���
	 ��	 �������	 
�	
-%90 	E	�
��9(�	 ���
�	 
�	 �������	 �%$%8	��	 ��
�	+�
� �	
1	 ���	 @������
�	�������8	 
���+��
	 ���������8	 ��	
�����	 
�	 -��8-�	 E	 ���	 ��	 ���
�	 
�	 ����
������	 
�	
�������9	

	 �'
������J
 �
������� ��
 ���

� (�
��	
�����
�����8	��	�������	���������	��
	�	

+��7	���
8	�	����
�	��	$	����������	+���	���	���+�� ����	
�	
$%%	���

4���2���������
�����%��
���

 ���
�

� �������
	 ��	 ���
�	 
����
�	 ��	 �������	 ���������	
������
�������	
�	��
�2��
	���

3��	
�	��	
����	
�	 
�������	
����������	���
	��
����
�	
�	��
��+��
	
�+�
���	�
� ����
�����	=	

��������	 
�	 ��	 �����	 ���/+������	 �����	 ���	 ��	 ����� ��
������	�����
����	

��	+����	
�	����	
��22�����	

���	�����������	
�	�������
�	

	 (�
��	
�����
�����8	��	�������	��	�
������	1	����� �
������	 ���
	 ��	 �+��	 2�+�
����8	 ���	 ����
���	 ������� 
	 ��	
���
�	1	��
�2��
	���

3��	��	
����
�	�����	2��
	
�	 ������	

�	�%	E	����	1	
����������	
�	
�������
	�����	����� 	��
���	1	
������9		 ����

3�������� )��

 �� �%��
���

 �
���
������/������%����%� �*�
	 ��	2��	
��	�
�+��7	
T�����������	
�	��	A���	
T���� +���	�
��������8	������	
��	
�	���	
�	��
�8	��	
��� ��
���	��
	��	����������	
��	��������	
�	�T(

3�	��

� 	*������8	���
����9	

	 �T������
	
����	���	������	
�����	��������	����	�� 
	�T���
��
���	
�	�
�����
��	��	
�	����������	�!�
�(""*8	�T�L���	
T���
��
���	��
�	
����������	
���	� �������	<��
�9		

	 H�	��	�������
�	
�	����
�	��+�����	����
�����	���� ���	��	������
	
�	�%%	�U8	��	��
���8	��	�����	
���������	��	��	�������
�9	���	��7	�
�������	������ 	1	�T�7��
���
	��
���	
�
���	1	������	��+����9	

(	��	<��
8	
��7	��+�����	����	������9	

· 			��	�
����
�8	�����	������	��	����	��	��

8	���	� ������	��
	��	�������	�	��	����8	
���	��	��
���	�	� ��
���

��	������	#��/���
��9	�����	���
��
���	�
�����	��� 	��
+����	��	������
��	�	����22���	�	�����	1	������ 
	��	
�������������9		

* ��	�����
�	������	��	��
	
�	�R������8	��
�	�������	 �
��	�
�����������	��
	��	�������	���������
�	
�	
�T*������9	�����	�������	+��

�	��	
���
�
�	����	�� ��
���	
�	���������
�	
�	���������9	

��	
����	
�	��	A���	���	��	���
�	
T�����������	��	� �	��
�	�
��	�
�����������9	

	 	 	 	 	 	 ��
������	(����
��8	�
���
���	
�	��	��(�*	

�������"447		7"��	�"�6���36������74�67"���

��	<��
���	
�	���
�	��	2������	��	
�
����
�	��	 ��
����
�,.�"�6"5���G�
�

!��	
������	���
�	���	
�22�
����	�����	���
��2�	��	 ��	������������	�����	�����		

��	% 	�������
�	
�
���
9	*���	�	��
���	
�	
�2���
	� �	
�
��������	
�	��	<��
���9	

	 	 ��	�
��
����	���	��	���+���	=	

		 	  �	=	��
���	
��
���������	��	
��
�����	D''	

		 	 $$	�	=	������������	
��	����+����	���
��+��	

		 	 $�	�	=	(��
���2	I	
����	

		 	 $0�	-%	=	(�����
�	���
��2�	������	��
	
��	�
���� ��
�9	

H���
�������	��	
���� 	��.�H��� ��
��P�!�H�
�2�����D�,������P����� ���D�0� ���G�


�
��������	���
��	
��	
�����������	
�	������	����	 ���	�
�������
���	��	����
�	
�	��
�����	��	��	
��
�������	1	��	����
����	,������6��

���	��	
�
������ ��	���
��	
�	��	����
����	��	%�	4�	--	�0	4$	

� � � �
���
���%����,�?,�?��,� �

	 	 	 	 	 	 	 	 	 ������	#(H�@("		



� � � � � � � � � � � � � � � � � � 	 � 
 � � � � � � � 
 � � � �
���

���
���

���
��	


��
���

���
��	

	
�
�



��
���

���
���

���
��	


��
���

���
��	

	
�
�



��
���

���
���

���
��	


��
���

���
��	

	
�
�



��
���

���
���

���
��	


��
���

���
��	

	
�
�



��
�� ��

6��8��;����37	�	�<����"��	�������37	�67"��"�����8�	 ��

���6�74�	6��� �

�"447		7"���"44��7��67"���
�

3
����
�7��
��
���
�����
���

 �
�
���
���� ���Q�

	 ����	��	�
���
���	 ����
�8	 ����	+���	��2�
�����	
�	 �
�<��	
�	����	H���
���	���
	���
�	�������9	��	���� 	
����	��
����
�	
�	2�������
	�������	��7	��2�
������ �	�����������	����	�����	��7	��2�
�������	��
	��	+� �	
�	+������8	��	
���������	���	
�22�
�����	����2���������	�
�������� 	��
	���	������������9	

�
����
��
�'
 ��/��
��
� ���
����� ����
���
��� �<�

�� ��������
������2��
������
 �������
<������1 
�
� ����������'
G�

�����	���
����8	��	+���	�+�A	
�	<�����	������	
�	�� �
�	+������8	
�������	��	���������8	����	+���	��
�� ��	����	
�����
���������	��	+���	����A	
�������	1	���	��
����
9	

	

#�
	������
�8	���	�
������8	�����
;����	��	�������� ����	
�	+������8	���	
�	
���+��
	��	���

��
	���	�� +�����	1	
����
�
��
	��	������	
������	����
�����	��	������������	1	 ���������
	���
	�������������	��	�����������	��
	�� 	����9	"�	+���	
���+�A	���	
����
��	��	�����������
�8	��	���	����
� 	�����	V	���
�	��������A	���	��	���	�������8	1	��	
 �����
	1	��	����

��8	1	�����������	
�	��	����������	�������������9	

	

"�	+���	���+�A	���	
�;�	��	���

��
	��	 �+�A	������	 
�	�����������	
���2�
������8	+���	���+�A	+���	��	< ���

�	��	
%49�-94�90%9%0	��	��
	���	 ������9�

���
���W�
����92
 	

(	�
��	�����L�	��
	XXX	YYYYYYYY99 	 	 	 	 	 ������	!

���
���	

* 6���
��
��� ���1 
��� =	
���+�����	��
	���	�����/��	�����������
��	

	

* �
��� �
�� ��� �
� �� �
���
�
��� ��
��%���������
� ���
����
 =		��
	���	���������
�	���������7	

	

* �%��'�������
�������
��
���������-1 
�#����
����
� >������
�	8	����������	
��	�������
���	8	����2�
2���	?	��
	���	�����/��	�����������
��		���
	������ ���
	 3������
�� �����7�2��
���1 
 	

	

* ����
��
�%���
��
��2���
�� =	
���+�����	
�	�������
	8	������
�	
��	+�����	��
	 ���	��+
��
�	9	���	���	��	
������
�		
��	��
�	��
�	�22������8	��	�����		
�+��� 

�	��	���+����	 L�	���
��
���������������M 	

� 	

* 3
�������
��������
��
���%�%��
2���� 	

	

* 3
�������
��������
����&'��
��
� 	�����	��
	��	�
3��	�	���	
������	9	

	

* �
�����'� A��
�'����
� +���	3�
�	
�������		
��	��	
����	
�:����
�		��
	��� ��
��
���	#:�*"	�()�
)*		
�	'
��	��
	=	

	 	 ���	
��	
��	*�����		>
�	.C-$	��		.C4�	?	

	 	 ���	
��	
��	#/
�����		>	
�	.C$�	��	.C��?	

	 	 ���	����	
�	������		>��
	-0%	�	?	

	

* 3
��
�������
���������
���%���
� >������	��

���	
�	������?	+�	3�
�	�������	
���	��	 ���
���	
�	
�
�
���
	�
�����
�	���
	��	�������	
�	���%	E		>
��� 	-%%%E	
�	���+������	?	



� � � � � � � � � � � � � � � � � � � � � �  �

���
���

���
���

��	

��

���
���

��	
	
�

�


��

���
���

���
���

��	

��

���
���

��	
	
�

�


��

���
���

���
���

��	

��

���
���

��	
	
�

�


��

���
���

���
���

��	

��

���
���

��	
	
�

�


��

�� ��

57537"69�:����
	
��	������������	������	�%%%	��+
��	>�
�����8	��+
�� 	��	�
��	��
���
��
��	��	<��������?	
���	$%-�	��	2��
�	�
��
��	>��+ 
��	����
�
������	1	��	������������	
�	#��/���
��?9	�%%	��	��� ����7		��	
�%%	�D�9	
	 ��	
����+��������	��	����������	
��	��+
��8	��	��	
�D�	����	����
��	��
	��	
����������	
�	��	��������� ���	
�	
#��/���
��	��	��
	��	��
��������	
���
���������	
�� 	@������
#/
�����	����	���	-	����9	
	 *���	���	��+�
��	1	����	���	���������	
�	������9	
	 ��	��
��	
T����
������	��F��	�	E	���
	���	�
�����	 ��	
���	�
������	���
	���	�����	
�	$�	���9	*���	���	��
 ��������	��	

T���	
�
��	���������9	

	 ��	������������	������
�	���������	�%	���+��		
��	<��
�	
�	$$	@	1	$�	@	��	
�	$0	@	1	$4	@9	

	

-�(�
��	��
	
(��7��

�8	
����	�+���	
������	������	
��	��+
�Y	+�+��
����	���	����	
��	�����	����	
��	����	��	���
Z		 �

�
��������
�����
A�����������
��

��(G@0G!.G(�G�@�

��������
1 
=�� &���� �R�����
 .fr 

�"447		7"��5�674��6�
���"447		7"����"3���

� (�
��	 �	 ����	 
�	 �
�+��7	 ������

�����8	 �T���	<����	 1	
�����	 ���	 ���	 �
�+��7	
�	 �T�����	 ���	 ���	 ����+��	1	 ��	+�����	 
�	
��	
���
��	��
	���	
�
���
��	
��������	��	������
�9 	

	 ��
���	 ��	#��
����	 ���	2���	+�
�+����
	 ���
�	 ����� �	<���
��T1	��	
�
���
�	������8	�2��	���	����	����	�
��
�	 ���
	���������
	
���	������	������
�9	

	 #
���8	 ���+�8	 �
����8	 ��

��8	 ��	 ����	 ��	 ���	 ����	 
�	
2
����	��	���	����	
�	2���
�8	����	����	���	����	
� �	������
�	���	
�
����	
���
����	���	��
�	
�	���
�	�����	ZZZ	

	 ,
R��	 1	 ���	 �����2����	 �����
�	 ��	 ���
�����	 �
�
��
���������	 ���	 �
���2�
��	 ��	 ���
	 �7��
���
�	 ��	 �
�� �8	 ���	 ���
2����	 ���

���	 1	 �
�����	 ��
��
	 ��	 
��
������	 ��
	 � ���	 ���	
�����Z	��������	ZZZZ	

	 ��	 �
������	 
T���	 ����
����	 ������	 �	 ���������	 ��� ��
����	 ������	 ��+������������	 ����	 ���	 �T�����	 
T��	 � ������	 �
���
�/���8	
�	0	��
���7	
T������
�8	��	
T��	��
���	
T�� ��������
9	

	 :��	 �����	 ���	 ��������	 ���	 
��A����	 
�	 �������	 ��� 
	
��	������	
�	����
�����	��	�	�����	
�	�/���������	� ��	���	2�����
���	��
	�T�����������	
��	��
����	
T���+��9	

	 �T���	 �+��	 �
��
	 ������
	 ���	 ����	 �����������	 ���� �	
�����	 
��7	 ���+�����	 ��������
����8	 ����
�	 �����
	 � �	 ,�
��
���	
(�

�9	 &���+����	 1	 �����	 ��	 ����������	 ���
8	 �����	 ��T1	 ���
�	
���������8	���	�
��	�����	�����	��	���������	
�	��� 	������9	

� � � � ����
�5
����
���

+7�����4��6��

,
��	[�+
�	=	"()�	*H'																														 						$0	$-�	 � 	@�		

���
�����	>�
���	��	�����	
�	�����
�	?													 -�	� �	 � 	@'		

�������
��	���	=	!��																															 								$�	%0%	 � 	@'	

#�R�
�
��	=	,������																																 													$$	$�� 	 � 	@'	

�������
��	����			�(&																														 											-	-%%	@'	

*����
�����	=																																						 																	$�	 4�	 � 	@'	

#�����
�	=	,����																																			 															 	�4� � 	@'	

*��
�	=		"�
�	)�H	>�9	.�������?																				 						�	$0�	 � 	@'	

"#"	��	�'	=																																								 																	-	-%%	 � 	@'		

�������
��	
�	�������	=																												 										-	�%�	 � 	@'	

																																																			 							'����	=				$$-	 -$	 � 	@'		

"��+�������		

		 	 				 	 	 	

��	��*���			 	 	 �%	%%%	 � 	 >����

��?	

��	�������	,���
��		>����

��?		 ��	%%%	 � 				>����

��?	

��	��		)�����								 																							�	%%% � 	>��	�������?	

																																																			 																																											
																																											'����	=	 														�%	%%%� 		>�%G?	

	

(���
�	
�	��	�������	=																													 				--	 -$ � 												



� � � � � � ! � � � � � � � � � � � 	 � 
 � � � � � � � 
 � � � �
���

���
���

���
���

���
��

���
���

���
���

���
���

��
���

���
���

���
���

���
��

���
���

���
���

���
���

�� �
���

���
���

���
���

�
���

���
���

���
���

��
���

���
���

���
���

��
���

���
���

���
���

��
���

	
�
��

���
	
�

��
���

	
�
��

���
	
�

��
�� ��

��������	�����������	
�+���	��	��
	
���	
�	��	���+� ��
��	�����	
�	������		

	 ��	������	1	

����	

�����
�4�33�� =	����
�����=	#�����	>$$	��2����?	

	 	 	 ��/���	>	 	��2����?	

�%������
������� =	�*$	��	���	>�-	��2����?	

4���
����
����4"�	� =	��$	*'	���	>$0	���+��?	
	 ��

�8	\��
�	8	D��

�
�		

��������
�6��>� =	��$	��	��		��	���
�		

	 												����
�����	,"	��	#
���
����
�	��		 			
��

�	>	��	
�����������	
�	�9	�@())H*)	
����
��	

�	���
�	��	��

�?	

��������9���7�� =	����
�����	,
��
�	�������	>�		 		
��2����	��	���
�	�
���
����
�	>$0	��2����?	

										��
������	
�	�
����	������
�	=	��
	)D	��	 ��

�		
����
�	�!��*)		

��	5��
����	:�HD*H)(	
>('"*�?	����

���	
���	������	��	��/���	
�	

3���%��'������
����������

Y9:�2	Z	�������	���	2����Z	

999'���	��	���
�	
������+�	999	

��	0���	������	

��	��
���	
�	
�
�����
	

99��	�����	
�	
����	���+�999	



� � � � � � � � � � � � � � � � � � � � � � " �

���
���

���
���

���
���

���
�

���
���

���
���

���
���

���
�

���
���

���
���

���
���

���
�

���
���

���
���

���
���

���
�

���
	
�

��
���

	
�
��

���
	
�

��
���

	
�
��

�� ��

�
.���
���/	�����������������������$
���������	�����&!&��

�
�

	 �����	�����8	����	�+���	
���	���+����	������8	���	�	���	�����
�
����	
���	����������	��

�
��9	���	
��
�	���	���	������	��	
���	����
	
��	
���	2����9	��	���+���	�������	
���	�

�+�8	��	��
�	�����L�	��������9	
H�	/	�	�����	
��	�����
��9	

	 .���	�+���	���	���+����	
����
�
�	��	�*�8	���	���������	(���
���	��	���	���+����	��]�
����	�
��	
��������9	K��	
�	���+������	�����	
�����	Z	

�������������	���	���
�

�

�
�

�������������	��
����
�����
�

� ��������
�	 O	�������
�	+�	1	
�������	P 	
�������	��
	���	���+��	
�	
������	��	
�	��/����	��������	

	

	 O	�����	��������
�	
�	�����
���
�8	��	�����	��
�9	�������
�	+�	1	
�������9	*�	������8	��	2���	
�	��	
������
�	�+��	�������
	"������
8	��	
2���	
�	��	�R��	1	��
���
	�+��	
�������
	)���

8	��
��	��	+�	��	
������
	
���	��	��
�	�+��	���	�
��
��������9	

	 H�	�

�+�	��	
���

	1	������
��9	����	��	�
����	
��

�+�
	
�����	
��	�
����
	��	��	
���
�	���A	���	��	
��������9	P	

	

	

01���2�3���*4,�0*�50*,,1��1,�01���2�3���*4,�0*�50*,,1��1,�01���2�3���*4,�0*�50*,,1��1,�01���2�3���*4,�0*�50*,,1��1,�
+,�1��+,�1��+,�1��+,�1�� ��	����

�
�

� �����	�����8	���	�#	+���	
���
��

�	1	��
�	�+��	��	'&H	
>'������	&����	H���
����2?9	H�	2���	
��	��/��	�������	���
	��
�
�	
���
���8	;�	���������	��	��/���9	����	��	
��
��	����
	�3��	��
	��	�����
9	

	 ���	,
��
��	"�������	���
�
������	����������	��
	��	'&H	��	
����
�����
�8	���	�
�+�������	�+��	
����
�8	��	��]�
����	
�	����
�����9	

	 H�	/	�	�����	��	��]�
����	

�	��

�	���	���������	��
������9	
(+��	����8	��	2���	
�	��	������
�	��	

�	��	������
��9	

��	������	
�	,"	��	�#	

	

�

�

����L��"�8�33��M���"3��

# 
 � � # 
 
 $ � �
� % 	 � � � � � � 	 � & � �

�

�������	����+���8	��������2����9	�������	�+���	���� ��	=	��	���+���	
�
���	�+��	���	�����	���
�����	���+
���	
���
����	� ���������	���
	V	 ����
�
�
������� ������ ������
� 9	�������	�����	
�������	��	+�����8	��	����	��	��	
�����9	:�	��	��	
������������	����8	��	�+���	�����
 ������	
��+��
	
�������9	

	 @��
��������8	����	
��
��+����	���	����
�
��	��	�� �
�	��]�
���
��9	.���	������	1	��	2���	
����
��	��	��������9	#�� �	����	��������
�����	
��7	���+���7	���+��	��	���8	&�������	��	���� ����9	(+���	

����
�
	��	������8	��
�����	�������	������
��8	
�� ��
��	�����
������	
�	
����+
�
	���
	���+����	�����9	

	 (�
��	�+��
	�
�+�����	��	���8	�������	�����
�	
�	� �	
��
�
������9	.���	�
�2������	
�	��	������	���
	+�����
 	���	�����7	
��	���
	2��
�	������������	�+��	���	���+���7	���+�� 9	

	 ��	���
	����	������	
���
��	1	��	������9	.���	���� ����	
���	
�;��	
�	 ���
�	$ �
� 	<��
���9	

����	���	���
��	�
���	O	������	P		



� � � � � � � � � � � � � � � � � � � 	 � 
 � � � � � � � 
 � � � �
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
�� ��

	 (�
��	�+��
	
��
��	���	���
�]�������	��	(�F�	��	��
 ������	
��	���������	(A��
�A8	���	"*.H:)"	
�	�T!9"9�9#9		�� �������	��	 ���
=
��������+%�%���
�0����
�,�?�(?��,� 9	
�T���	���	�����	�7������������	���	+�	��
����
�	��7 	�����
��
�	
�	

����+
�
	���	�������	
�	#�A����8	&�
�
���78	������ ���8	��
���78	
K������8	���999	"����	
��7	
�
����	���
	��
���	�
�� ����	�+��	��	�
�����
��	
T(
�	��	D��6&���

�9	
	 (	����
	���	���
	���	�����	
�����������8	��	��
	
� 	�����
�
��
�	���	���	��	�����9	#��
	����	
T��2�
�������8	�T �

����
	��	����9	
	 #�
����������	��	"��
��28	�T!9"9�9#	23��
�	�T����+ �
���
�	>�%	
���?	
�	��	2�����	
�	�����������	
�	5
����	$ � 6$  %	�
�	�

���(�
"�����
���,� 8	��	��
������
�		1	�T�
����������	
�	�����
�	^.�
� �^	��	
"���
�	�-	:����
�	�%$%9	
	 ���	\*!.*"	���	���������	
��������	���	�
������9	
				 3
��K ������ ����	�������	��	�����������	'�

���
���	#���������� 	

���	���	�����	���	����
��
	.���
�8	\������6:����	� �	���
��6D���
5�A�����9	
				 3
�����
��� ��
��������	��	�����������	'�����
�	�+��	.���
�8	
"�������
/	��	���
��6D���2�A�����9	
�T*����	
�	)���/	
��
��
	
����	"������
�	��	�
����� �	���	 K� ��%
�
����
�" '
��
��
�	�

���,$�	
��

��
 9	��
���	��	�
�����
�	����	
��
������
�	1	
�+�
�	���
����	�
�������	��
	��	���� ��	(
�������
&���

�9				 	 	 	 	 	
	 	 	 	 	 \���	&�
���� 	

3"�	�5"�		�3"�	�
	

	 (�
��	�+��
	��
������	��	���
���	
�	&�
�
��A��	 �����8	 ����	 �+���	 �
������	 ���
�	�
�������	
���
���	 ���
���	<���	 �_	�������	��������	 ���	�����
���	
�	&�
��A��	�����8	
��	&�
������8	
�	&������	
>0%?	��	
�	�������
�9		

	 ���	 ���
���	 
����������	 ��	 <��	 ���
�	
^�����
�^	�������
	���	�	���	
����
��	����	��	����	
��
	���	O�����	&�
	P	
�	�������
�9	���	������	���	
���	�22�����	��
	
��	�������	�
���
��	������	
�	��	

�����8	���
���	�����	��	)���
�	(
�
8	������	�����	

�	
����	������	<����
	
�	����	
�	#��/���
��9		

	 ��	���
��	�T���	���
���+��	1	"��/���7	�_	
�������	��+����	���	
�
�������8	<����
�8	�
������
� 	

�	�T*����	
�	
���/	
�	����	
�	�T!"�#8	���
��	
��	
��������	 
�	 #��/���
��8	 �����8	 @��
�8	 �����
��	
��	"��/���7	��	����	�����
��
�9		

	 (�
��	 ���	 ��	 #
���
���8	 &
���	 �!&H*8	
���	 
���
���	 ��	 �����	 ���������	 �
������	 ��
��	
����8	���	
����������	���	���	
������	��7	�������	
��	 �
���
��	 ���	 �������	 ����	 
�+��	 
�	 �����	 �����	
��
�����
�	������	��������8	
���	��	���
��	���+��
+���	��	������
��79		

	 ��	 �3��8	 ��	 ����	 
�	 #��/���
��8	 ���	
���
��	
�	#��/���
��	��	"��/���7	���	���	
���
�
����	 ���
	 �+��
	 �
3���	 ���
�	 ��
����
��	 ���
	 �T�
�
����������	
�	�����	<��
���9		

		 �����	 �������
�8	 ���	 
������	��
�	 �
��
�
�����	 �+��	 ���	 �
��
����	 ���
	 �����2��
	 ���	

�
���
��	����+����	
�	�T�����8	
��
���	
��	���
�]�
�������	 ���������8	��
����	2����+��8	999	��	 ��
��
	

�	 �
������	 �
��	 +�/���	 ��
�	 
�	 ���
���	 
��	 DH	
.������	��	�%$�	 � �

����������
���	��� � �	�����

��������� �
Adultes  : 57€ 
Jeunes : 37 €�

 Adultes*  : 70 
€�

Couple  : 87 €� ��2����S� =	0%�
��

Famille  : 117 €� �

Demandeurs 
d’emploi : 37 €�

`	#
�+��
	��	
��
��2����	��
��
���	

	

	
���	+�������	����	��
������8	�����	��7	�����
�	Z	
.���	+���	�
�������	
��7	<��
����	
�����
�������	
���
	�����	���+����	������	�����������9	

��	�
����
�	�������	��
�	 ��
 ���

���,$��
��

��
 	
�	$%	�	$��	
��	
�	$0	1	$�	�	>����	�����?	
��	��	�����
�	��	 ��

����!��
��

��
 	
�	$%�	1	$��		

����
��������%���
��
��
����� 
��	�����������	����	1	�������
	=	
			 � 	5
��;���	#������8	,��������	#������	��	\������
��� ����	,�����

��	���
			
���+���	���
�	���
��	��	��	���+���	����	
�<���

�	� ����	�����9	
			 � 	��
���\����	��A���	>����	
�	&����
��	
�	&���

�?	� �	2�
������	
>�������				
T*���	*�����������	#
�2���������	
�	�� ����?	��
�	��	���
��	���	
���
�	
�	��
�
�
�	
�	 �	$��9	
.���	
����
�����	���<��
�	��>�?	���������
>�
���?	� ��
	���	���
�	�
�����	
.���	����
���	+���	
��
��+�
	����
��7	��
	���	���
� �	
�	��#	��	
���	����
��	�������	����	+���	����������	1	������	��	����	�� �	�����	
���
��9	

	 	 	 ��������	
�	'�#				

		.���	��������
	='��9	=	%�	4�	--	��	$%	6	%�	4�	-$	 �%	 �	
	 ���9���/���
��W2
��92
 	����=66���9���/���
��92
��92
 	
	
�

��3��	����

6���7	��3�5��



� � � � � � � � � � � � � � � � � � � � � � � � �

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

�� ��

�47��3����	���6��76�	�

� ��	 $�
	 ��	 �	 "������
�8	 ��(������	 
��	

��
�����	 ���	 �����	 	 �����
	 ����
	 
��	 ����	
999�
�������	��	��	+���	
�	��
��	Z		

	 ��	 &����	 H��	 	 8	 ��	 ����
����	 D�����	 ��	 ��	
����	 ���+���	 
�	 "��A��	 8	 ���	 ���	 ������	 +�
�	 �����	

�	"���	999	��	�
�����
�		<�����1	��	������	
�	
�A	 9	

	 (�
��	 ��	 +�����	 
�:����������	 8	 ���	 	 ���	
��+����	 <�����1	 �����	 
�	 &
����	 8	 O	 �����	 ��7	 2���
 �	
��	��7	
����
�	
����	P	

	 ���	 ���+��7	 ���+�
��	 
��	 ���
���	 8	 ���	
����	
�+����		+�
�	���	������	
�	����8	�_	���	���
����
���	 
�	 	 
��������
�	 
���	 ��	 �
�	

��	��
����78		��	�
�	
��	��������	9	

	 ��	 
����	 
�	 ��(������	 ��
�	
����	��	��	"������
�	(��	"���	

)�������������	���
	��(������=		

	 (
�����	����
��			
	 	 %�94�9--9��9�$	

��67876��4���9� 	
�

	 ��	�������	��
���	
�	�T(������	��
������	1	��
���� ��	
��
���
����	��
���
��	�
��������	��	X��a���
	��
	
T���
��	 �����8	�������	
�	
��
����	��	
�	�����	�����
9	���	����2���������	���� 	�22������	1	��	
��
��	
�	��	�����	
��	������������9	
���	��
����	���
���
��
��	���	���<��
�	����		

��	 8������7� B	$�9�0��G� ���
�	
�	#��/���
��9	
����
��
���
�2����
��

��
<��%� ��������
 	���	
��
������	��
���	
����	 �T���-�=
����#�,0�9�0� 	���
�	
�	#��/���
��9	
	��	
���	�7����	��
�	�22�����	����
���
�����9	
)�������������	���
��	
�		

\�������	,*"'(H.	>%�	4�	--	�-	�%9?	
���	��
����	O	��������	P	����	�
��������	��	 4���7G 	
)�������������	���
��	
TM+����	(�*,)*'	>%�	4�	--	�- 	%�?8	
	
����������	
�	 �����	�
������ ��
� � � � � 6���	���+���	����

	 7�+"	����3�����"7		��
	 ��	
���
��	
�	����������	��
	�T��������	
��
�������	
�	#��/���
��	��
�	=	

�
���

����!��
��

��
��
�(�0��#�,,�0��

� 1	��	������	#�
��������9		

	 	 	 ������	��
���	��+��	

	��"��	���69"37:���
� !��	�������	
�	�����
�	����������	+����	
�	����+
�
 	
1	#��/���
��	9	

	 *�	��
��������	��	����

���	���	$�
	��	-���	��

�	

�	������	����	1	��	������	��
��������8	$	
��	
�	�� 	������	��	
��
	
��
�A	+���	>	%49�-449$ 9-�?8	

�����	��
�������	��
+�
�	
�	����	
��������		��	
��� ����	���
	

����

�	���	�
�������	
�+�
�	8	
���
�	�
������
��� +�	��	
2�������
�	��	����
�
	��	����		�+��	���	�
��������	 ������7	9	

	 ���	��
��������	��
���	����
���	��
	����
�	�����
+����=	\������	"�������
8	#��

�	���+�����8	\������ ��
�	b���
��
	��	\9	5�

��	8	2�
���	��
	,�c���	�����
��	8��
� �����	
����
��	1	(
��
	(���
��	9	���	����+����	����������	 1	
������
��
		��	���2�
���������	
��	�
�������	
������
��	9	 		

	 		 	 \���	����
�	b����
	

H��	�����	���	����
	
��+��
	���22�
�	
�	���	
�	��
	 ����

��(��)		
	 ��	����
�	$�	"������
�8	��(��)	�	23��	���	
-%	���	
��7�������	1	�������9	�
���	��	$ �%	8	����	
�����	���������	
���	��	�
����
		�����	1	�������	
�+���	
�	+���
	1	#��/���
��	��	�%%-9	

	 '
���	�
���
����	��/	����	�����
��=	
�9&�
��
��8	�9��2
�����	��	
�����	�%%4	���	
(�����	9	

	 ������+�
���
�		�	���	23��	��	�������	�+��	
���	���
����		O	��	���	
��	������	P	��	O	����	��
�� �	

��	����	(
��
�	P	��	�����	��
	���	
�����
�	O	���	
�������	P	9	

	

	

	

	

	

	

	

	 	 	 >#����	\9�9D9? �



� � � � � � � 
 � � � � � � � � � � � 	 � 
 � � � � � � � 
 � � � �
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
�� ��

�"�������"�����6��	�������4��7:����
		 	

	 .��
�	�
����
�	�����	
��7�������	�	���	����	
����� �	
��
	����	�+���	���������	�0	��2����	
���	���	
�22�
 �����	����+��
���9	��	�����	���
��	���R�
�	
�	$	<������	1	�����
� 	���	�	��L��
�	
�����	��
��
�	��	�	��
���	��7	��2����	
�	2��
�	���
 ����
	���
	
������	��	���
	�
����+���9		

						(�
��	
��	+�������	����	��
�����8	�����	����� ���	�����	
����
��	��	�
�+���		�2��	���	�����	���+����	������	����	 �����	
������	
���	��	�
���
����9	.��	����+����	
�	����	
������	�
 ��������	=		

d	 ��
�	��7	
�+��
�	���
	���	��2����	
�	�
����
�8		

d	 �������	������
�	���
	���	����������8		

d	 ���R�
�	�+��	��	���+���	�
����	���	���������	���	 ������
�����8		

d	 ����+����	���������9		

d	 ����	�
�������	
�����	��	
���
��	������
�8	1	���� �
�	
���8	
�	��	���+�
������	��	�������	���
	���	������� ���8	��	
��
�
�
�	��
�����
�9		

					(�
��	�����
�	���	��	#��/���
��8	����
+�����	� ���������	1	
�����
��8	���
	����
�	��7	
�+��
�	1	
����������	
�� 	��2����	
�	
"HD:"	
�	��(

3�	��

�9	

					�����������	����
���	
�	�������������	�����	�� ���	��	+��

�
�	
$�	�������
�8	2����	
�	���
��8	��	���	���	���	����� ���	
�	����
���
	��
	
��	��������	����
�����	=	���
�������	
��	 �������8	
��
�2�������	
��	�������8	
����+��������	
��	����
� �	
�	
�������	
��
������
�����9	!��	���������	����
���	�7 �
��

����
�	
���	�
�+��	��	 
�����!�������
�#����0�� 1	��	���
��	
�	#��/���
�
��9	.���	����
���	���	��
����������	����	����
��� ��	
��	���

����8	�����	��������	����	
�	#����	���	���������	� �	��	������	
���	���	���
��	��	��
+���	
�	+��	��2����8	��	
����
 	
��	2�������	
��
���	���
	����	��	�
��
	�����
�������9	

					 ����
�������������
�� �����7�2��
���1 
 8	���	�
�+��7	����	
����	�+�����	
���	��	�����	
�	��	���
��8	����	����
 ���	���	��+�
�
��
�	+�
�	
����	��+���
�9	��	������������	��	������ 3���	+���	

����
���	���
�	������	���	��2�
�������	��������
�� 	><��
�	��	
���
��	
���+�
��
��8	�
��
�����	
�	2�
������8	���9Y ?	

� � � � �

� � � � � 5�	�
�����������  

��3���76"������
	

			'���	���	��+����
�	
��
�����
�	
��	@���
���	#/
�����	��	�3��	
�������
�	�����������	
��	���
������	�����	
��
�����	������
�	
�
�������	����������	
�����	�������
�	���
����	��
	��	2������	��

������	1	#��/���
��9	

	 	��	����
��7	��+����
�	��	�������
���	��/	����	
��
��+��	��	 ��
����
�,(��
�=
�

��
� ���
	���	�����	<��
���9		

	 ��	��
����	��
2��������	������	����	
�	�����	
���	��	������8	���	������7	��	���	
����	��	����	2������	
����+
�
	
�	����
���	
����
����	��
	���	������	���������9		

	 (�	
����
8	��
��	���	�����	
�����	1	
���	�����
��8	�����
���2	��	���	�
����
��	����	
���	��
���	
�	��
����
	��	���	������	
�	
���+�+������9		

��
��	����
�	1	)����	��	���	������	(����	
	 	 ����
�		@�������		

	

	

	

	

	

	

	

� �����	�����������	8	�
���	��	���	�%$%		
���	
��
����
�	��7	�����������	����
������	
�	������		
� 	��	

������
�
	8	�����
��
�
	��	������
�
	���������	
�� 	���
2����		�
�	������
��9		

	 *���	
��
����	���
	���������	���	
��A����	
�	
O	�������	P	>
���	�	
����	
�	#��/���
��?	���	���+�� �		
�����
	���
�	�������	>���	+��������	��+�
��	���
	�� ����

����?	1	 ��	 ����
��
��2/�
���
�������� 
��� �
�2����
�����

���
�<�������
�
�����������
�J
 ����
�
(�0��#�,,�0�� G�

	 ���	������
�		/	����	�
�������=	������
�	
�	�����

��
�8	�+���	�������8	<��7	
�	������		���	99	

	 (2��	
�	����
	1	����	���
	���������8	���	����
+������	�	���	����

��	��
	��	������������	
�	#��/� ��
��	
���
	�������	
�	����
���9	

	 ���	����������	��������
���	��		

4������$�	
��

 �
�	

'�����	���	�����������	����
������	
�	������	/	���� 	
��+�����	1	+���
	�������
	1	��	�
����������	
�	���� ������

����	���+��	
���	��F��
9	

#��
	����	
�	
�������������	+���	���+�A	��������
=	 	

������	(.�)*		>%�94�9--9� 9�-?		
>������
� W�������92
?	

3�	���75"�7337	��



� � � � � � � � � � � � � � � � � � � � � � � � �

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

�� ��

� � � � � � � � � " � > � 	 6 � � � �

����
���������	
�������
������������	
�������
������������	
�������
������������	
�������
���� ���
������
����������
���������
����������
���������
����������
���������
����������
���� ���
����
��������
�����
����������
��������
�����
����������
��������
�����
����������
��������
�����
������� ���
������
�������
�����
������������
�������
�����
������������
�������
�����
������������
�������
�����
������� ���
����
����������������������������������������������������������������������������������������������������������������������������
��������������������������������� ���
����������
��������
������������
��������
������������
��������
������������
��������
��� ���
����������������������������������������������������������������������������������������������������������������������������
��������������������������������� ���
�����	
�����������������	
�����������������	
�����������������	
������������� ���
����
 ��
���������
!��"����������
��#�� ��
���������
!��"����������
��#�� ��
���������
!��"����������
��#�� ��
���������
!��"����������
��#��� ���
�����������
��#��"����������
��#������������
��#��"����������
��#������������
��#��"����������
��#������������
��#��"����������
��#�� ���
���������$�������
�
���
!
���
%���������$�������
�
���
!
���
%���������$�������
�
���
!
���
%���������$�������
�
���
!
���
%

&
�
&
�
&
�
&
�����
��
���
!
���

&
��
�
���
!
���
���
!
���

&
��
�
���
!
���
���
!
���

&
��
�
���
!
���
���
!
���

&
��
�
���
!
�
��

&
���

&
���

&
���

&
�� ���
����
�����
�����������������
��
�$�
������
�����������������
��
�$�
������
�����������������
��
�$�
������
�����������������
��
�$�
�� ���
'���
��
�$�
������
��
�$�
�'���
��
�$�
������
��
�$�
�'���
��
�$�
������
��
�$�
�'���
��
�$�
������
��
�$�
�� ���
'���
����������
��"���
�
����
�'���
����������
��"���
�
����
�'���
����������
��"���
�
����
�'���
����������
��"���
�
����
�� ���
���"���
�
����
��
��"���
�
����"���
�
����
��
��"���
�
����"���
�
����
��
��"���
�
����"���
�
����
��
��"���
�
�
���
����
����
����
�� ���
����
�!������������
�(�����
�������!������������
�(�����
�������!������������
�(�����
�������!������������
�(�����
������� ���
)�����
�������(�����
������)�����
�������(�����
������)�����
�������(�����
������)�����
�������(�����
������� ���
���
�*������"�����
������������
�*������"�����
������������
�*������"�����
������������
�*������"�����
���������� ���
������
���������"�����
��������
!�������
���������"�����
��������
!�������
���������"�����
��������
!�������
���������"�����
��������
!�� ���
+���������
!������������
!�+���������
!������������
!�+���������
!������������
!�+���������
!������������
!�� ���
 ���
�
��
��#����������
��#� ���
�
��
��#����������
��#� ���
�
��
��#����������
��#� ���
�
��
��#����������
��#�� ���
+�������
��#����������
��#,+�������
��#����������
��#,+�������
��#����������
��#,+�������
��#����������
��#,� ���
����
����

����
)��
��
������-
����������
����)��
��
������-
����������
����)��
��
������-
����������
����)��
��
������-
����������
����� ���
��������
�������������
������������
�������������
������������
�������������
������������
�������������
����� ���
.��
�����

����

�����
�������.��
�����

����

�����
�������.��
�����

����

�����
�������.��
�����

����

�����
�������� ���
/�

�����
����������

�����
��%/�

�����
����������

�����
��%/�

�����
����������

�����
��%/�

�����
����������

�����
��%
��������������������� ���
0���
�������������������������%0���
�������������������������%0���
�������������������������%0���
�������������������������%
�!��������������!����!��������������!����!��������������!����!��������������!���� ���
0��
�
��������

��0��
�
��������

��0��
�
��������

��0��
�
��������

��� ���
0���
�������������������������%0���
�������������������������%0���
�������������������������%0���
�������������������������%
�!��������������!����!��������������!����!��������������!����!��������������!���� ���
.�����
���!���!���
����-
�.�����
���!���!���
����-
�.�����
���!���!���
����-
�.�����
���!���!���
����-
�� ���
���!�������������
�-�������
����������!�������������
�-�������
����������!�������������
�-�������
����������!�������������
�-�������
�������� ���
1
�-�������
���������
�-�������1
�-�������
���������
�-�������1
�-�������
���������
�-�������1
�-�������
���������
�-�������

�������
�������
�������
�������� ���
1
������-�$������
�
�-��2���

�
�1
������-�$������
�
�-��2���

�
�1
������-�$������
�
�-��2���

�
�1
������-�$������
�
�-��2���

�
�� ���
��
�-��2���

�
��
�
�-��2���

�
���
�-��2���

�
��
�
�-��2���

�
���
�-��2���

�
��
�
�-��2���

�
���
�-��2���

�
��
�
�-��2���

�
�� ���
1
������������
��������
�
�
������
�1
������������
��������
�
�
������
�1
������������
��������
�
�
������
�1
������������
��������
�
�
������
�� ���
'����
�
�
������
�������
�
�
�'����
�
�
������
�������
�
�
�'����
�
�
������
�������
�
�
�'����
�
�
������
�������
�
�
�
�����
������
������
������
�� ���
�����
�������!����
��
������
�
������
�������!����
��
������
�
������
�������!����
��
������
�
������
�������!����
��
������
�
�
����
�����
�����
�����
�� ���
���
������
�
�����
��
��
���������
������
�
�����
��
��
���������
������
�
�����
��
��
���������
������
�
�����
��
��
������

�
�����
�
�
�����
�
�
�����
�
�
�����
�� ���
�����3������������������(����
�
�������3������������������(����
�
�������3������������������(����
�
�������3������������������(����
�
��
��������������������
)����
�
�������(����
�
������)����
�
�������(����
�
������)����
�
�������(����
�
������)����
�
�������(����
�
������� ���
���
�*���4�����
��
���!��������
�*���4�����
��
���!��������
�*���4�����
��
���!��������
�*���4�����
��
���!������ ���
/��
��
���!���������
��
���!�����/��
��
���!���������
��
���!�����/��
��
���!���������
��
���!�����/��
��
���!���������
��
���!������ ���
 ���
�
�������������������� ���
�
�������������������� ���
�
�������������������� ���
�
��������������������� ���
+��������������������������+��������������������������+��������������������������+��������������������������� ���
 ���
�
��
������������������ ���
�
��
������������������ ���
�
��
������������������ ���
�
��
������������������

�������
�������
�������
�������� ���
+���������
������������������+���������
������������������+���������
������������������+���������
������������������

������
������
������
������ �����

� ���� 	��	 3����
����� 	>	O	.�c�	P	
��	2
��;���	?���	��	�
����	
�	�������	�������
��	���	�	����	
�	�
����	���	
T�7�������9	H��	
���	�
��	���	�����

�����	8	������	�
����
��	
���������	��	&��
�	��	&���

�	9	

	 H�	�T���	�
�
���	�
���	2���	1	�T :�/���� 	
>�%%%8	�%%�8�%$%?	9���	������	
�	���
	
��
��
���
�		����	�
������������	��	
�+��
�������	

�	���
�	
������	��	�T����
	9��	�������	��H��
��
�����	�
���	��	$ ��		���	���
	�������	2��
�����	9	

	 3
�����
����
��� &���� ��1 ���
�
�%�� �
����
��0�"�����
� 1	��	�����	
��	23���	
���	�
������	��
	��	��������2	
�������������	=	
3�����'�����<����� ����
�5�����
<�
���
��%�
�
��2/�
���
��� �����
��� ���
�� ��&<���=
�
���-�
��
�����
����
��
��� &���� ��G 	

	 D���	���+�A	
���
�
	���	������	>$�E	
��
	
���
+�����	$�E	��
	�����	?	���
��	
�	���	

	 	

	

	

	

	

		

	 	 �������������	 >#�
�������� ?	 +����	 
�	 23��
	 ��	
$�
� 	 �����	 
��7�������Y"��	 ���	 ���	 
�	 2�+�
���
	 ���	 ��� �����	
���
�	 +���������	 
�	 ������	 
���	 ��	 ���+���7	 �

�+�� ��8	 ���
�	
�������	 ��	 ����	 <�����Y	 1	 �
�+�
�	 
��	 ����������	 �� ���������	
��
�������	
�	
�
����+
�
	���
�	+������	���
�����9	

	 (����	 ���
	 ��	 6%�%���� 	 ��	 
�����
�	 
�
���
8	 ����	+���	
�+���	�
�����	��	O	����
�	
�	\��������	��	$ %%		P	� ��
	����/�
	

��������
	 ���'�
�#��� &���� ��� �
�%� ��� ���-��
��
���
� 9	
	 (�	 ����	 
�	 <���8	 ����	
����	 ������	 ����
�����	 ��	 ���
��
�����	 +������	 
�	 ���
�	 �������	
�+��	 ��	 ��
���	 O	 ����
�	 ��	 �����

�	P	=	����������	
�	�������	���+��
���8	 �
���
�����	 
�	 
�������	 �
��
�������8	
����������	��	
����������	

���	 ��
���
	 ���	 ���������	 ��	 ���
��	
�	�����	<��
���9	
	 ���	 
��7	 ����2���������	
���	
��������	�������	��+�
��	�%	
��
������	��	���	����	����+�	���
	
���
���+
�	���	����+����9	

	 ��	 $%	 :����
�	 ����	 2��

���	 ���	 � ��� 	 �
�����	 
�	O	 ����
�	
��	 ����
�	 P	 ���	 ����	 �������
���	
O	����
���� ��
�
�M� ���
	
�����
+
�
	 ��	 �������
	 ���	 �
�
����	 
�	 ��	
����
�		 � 
�	���������	 P�

� 5� �� �'���� � ���
��	 ���	

����
���	 � ���
������
���
��I���
� � '�����
 9	 >+��
	 ���	 �����	 ������
�?	
	 .���	 ��	 ���	 
���
�����	 ����	 3�
�	 ����	 ��
	 �����	 2� ��	
��
���	 
�	 ���
�	 ��+�
��������	 �����
���8	 ����	 ��
�� ����	 	 
��
���
��	 
�	+������	 ���	 ��	 
���	 ����
3�	 �
��������
�� 9	.���	 ������	
�����
	
�	
������
	���
	������
�	��	����������	���	 �
���+��	
��
��
����������	����	���������	��	
������
���		���	�
 ��
�����
��	
��	���	�������	
�	+������9	 	

	 �����
��	������	����	����
�	O	
���	���	��
����	P	� �����	
���	 ��	 
�������������	 
�	 ��������	 
��	 �������	 	 ��	 
 ����
��	 
��
���
����	�����
�����9	

		 	 *�	 ���
�	 ��(����������	 ���	 ��
�����
�	 
���	 ��	
��������2	�
��������	��	+����	
�	.�
��	9	

	 "�	���
�	
���
���	+���	����
����8	+���A	����	
�<�� �

�	
��	����������	(9	��

�
�	>%�94�9--9��94�?		

	 									(V		H���
	>	%�94�9-$9%�94 ?	

	 				��		(9	��
�/		>%�94�9--9�49��	?	

3�7�4"�6�3��

K�������	������	
�	���
�	�����

�	��	
�	���
�	�������	
�	<��� �



	 �>4��	67:���8"3"�6�7����
	 ��	�/���������	+�������
�	
��	)�+��	
�	��*������	� 	
��+�
�	
���	��
���	��	 � ����@��
��

��
���,� 9	

	 "����	��	���
�����	��/�����	
�	������	��
�����8	�� ��	
�	���	
���
�	����	+���	����
����
8	���
	����8	+���	���+�A	 ���+
�	
��7	���
�	

������	1	���
�	�
�����9	

	 �6
� 
 	=	+3�������	��	�������
��	
�	���
�8	���������	
��� �8	
��
+�����	���
	��	�����9		

9�����
��
��J� ��������
������G�

���
�	= �$�	���
�	
������	��7	�����
�	�+��	(���	):! K!*''*	

��

�	=	  �$�	���
�	�������	���
	�
�����	�+��	���
�� ��	�:�(	

D��

�
�	$��0�	=���
�	
�	2��	
�	�������	>�������	�� 	���
������?9	

.���	+���	
��������
���	
�
���	���	���
�	��	��	���� ����	��	=		
	 �!G@�G00G�0G(0�� ��!G@�G00G�0G((G 	

	 .��
�	���������	����
���	��	
�
����
�	 �
�'
���
���$�������
�
�%$%	1	��	������	
��	������������	1	$ �9		

����
������������ ���	�
�+�	��
��	��(,8	
��������A�+���	���
��	
��	�� ��
�
��	
�	��
���9	

	 .���	+���	�����
���	����
��7	���
	 ���2/�
�� ������� �
�������	
��
	��	���
��	
�	#��/���
��	>
��
�����	
�	�����?	�� 	���	������������	���
���
+��	���	+���	2�
���	
����+
�
	���
�	����+����8	+��
 	�������	
��22������	1	��	
�����	���/+������	���
	���
����������	
�	�����	<��
 ���9	

&����	������	���
��+�Z		

	 	������	):!K!*''*8	�
���
���	
�	�������������9	

� � � � � � � � � � � � � � � � � � � 	 � 
 � � � � � � � 
 � � � �
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
�� ��

67����3�����
� ���	������������	1	���7��
���
	��	
����	����	
�
������	�����	�����	8	�������	1	
"����	"�

��	8	��	4	\���	8���A	���	+���
���	
�����8		 K
���9
����3����
 �4����� �	 ��=
�
� ����
%�����
����� 	��	�����������	
�	
�����	���	�����	
�
����	��	���A	���	�����
�	
����� <��������
������&����
F ����
%����=
�
��
�����O
� 9	

	 ��	����	�	��
������	��	�����������	

�	5
����	��	.�
���
��	8	1	�������	��	:��
���	8	��
	�	<��
�	8	���	�$	��	��	(L��	9(�
��	
0�-%	
�	��
	��	����
�	��	��	
�	��
	��	
�����
���	���
�	������	�����	�������	$$���	��
	���	
-�	�������
�	>	� �	��
���������	?9	

	 ��	����	������	
��������
	
���	��	
���
���	
�	�
�����
�	��	��

���	���
	�
����

�
	���	������������	��������	8	��	���	�
�2��
��
�	�����	��7	
��
�����
�	Y	

	 )��������	���	���	���
���������	
���	����	
���	��	�����	���/+�����	��	��

�	���
	

�	�$�	1	�-�		

	 	 \���	@��
�	��

���	�����	

3���"3�����K��"�
	 ���	�������	���	
��
��	
�����	��	�	"������
�	���
	� ��	
������	
�	�	���	1	$%	���	1	��	�����	���/+������			

�
�
������
�,$�0��#�,(�0�G�

���	��
������	����
������	���+���	+���
	����
�
�	�� �
�	��2����	

�
���	���	�
�����7	��
��
��	��	���������
	��	%�94� 9--9�09-�	

	 	 	 	
	 	 	 ��	�
���
���	=	�������	���
��
	 	

3��5�33�6�����
	 ��	������	�����	����+��	���	��6� 	
(���	�+��	��	���������	���
���	,������	����	��	
������		�����������9	!�	�����	���
�	��	�������=	
��	����
�	
��	��
���������	���	�	������	>���	
+��������?	=	��	�
���	���	������	��
	�19	

	 ��	&���	�
��	���	
���	2�
��	<�������	
��
�	�%$$9	 	 	 	
	 	 																				\���	�������
	

3�	��9�		���	��

��	�
���
���	=		

\���	\������	�����
		



� � � � � � � � � � � � � � � � � � � � � � � � �

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

���
���

�� ��
3��:����33��

	 ���	���
�	
�(���
����	������	��
	(���	
#*M)('		+���	
��
��

�	
����	:����
�	9	"�	+���	
��������A	���
��

�	��	+���	��
2��������
	
���	
�����	���������	�����
���	8	+���	���+�A	+���
	��7	
�������	
�	���
�	
�	$��	1	�%�	1	��	"����	
��	(����
��������	��	���������
	1	\������	D���������	��	
%�94�9--9�090�	

3�	��9��6���	����3��	6�"�	�
	 ��	$ 	\���	8	���	O	�������
�	
�	��*������	P	
���	�����	��	$�
�	23��	
�	��	�������	��	��+�����	�� ��
����
�	���
����	
�	��	
�����	>	
�:
���7	��	
�	'
��	 ?	9	

	 (�
��	��	
����	�
���
�	��
	��	
�����
���	
�	
"���8	�������
�	�
�����	
�	
��a	��	����	�
�
����	�+ ��	
��	�
��
	�
�2�������������	9		

	 "���	��	
�
������	
�	������	&�
��
/	8	��	����

���	�
������
�	���	�����
�	
�	.���	1	��������9	

	 "�	+���	����A	������
	8	��������A	���	1	����	

�<���

�8	������	���	+��7	��
���	���	����+�����8	� ���
���	
��	������	��	��
�������
	99	

	 	 	 (���	��
��	���+�����	

3���"476����	�+�6�	��
�

� ��
���	��	X��a	��
	
�	�0	<������	8��	�����	���/�
+������	��	��	�����	
�	+������	���	�����	���	�����	 ������
����		�
R��	1	���
����������	
�	��	23��9		

	 ��	+��

�
�	���
8	��	��22��	�22�
�	1		���	�����

��7	��
�����
��	��+
���	���	2����+����9	#���	��

	 ��
�
�����	��������	�3��	�����
	���	�������	��	������
�	 
�	
�������9	

		 ��	����
�	��
��	��
�	��	������
�	
�	��������	
�	
����	���	+��������	
��������9		

	 ��	
����	
�	���
	�	
��������	�
��	
�		 �%%	
��
������9	#��
	�����
	��	
����	
�	���
��	��	������ 	
�+���	������	�����	�����	���	
��������	
�	#������	� ����
�
/9	#���	��	2��	�����
	
�	��	�����������	����	(��� ����	

���
�����
	��	���
��	<�����	�
��	��

	
���	��	���� 9	

	 ��	
�������	��
��	�+��
	
��
�	+�����	��7	�����
�����	��	1	���
�	��+����	���
	��	�
�
����������	��
 ���
�8	
��	2��	�����
�	
�	�����
�	�����	
�	��	���
��	�����
 	
�	
��
���	(
�����A�9	

	 #��
	������	23��	����	
������	��	2���	���	��	���
����	����22�	�����
	
��	��+�����	���
�	��
��	�9	��� ��9		

	 .��
�	������	���	<����	��	������������9	���	
�
������	��	�����
;����	
�	+������	����	����
����	
���
�	��������	���
	���
����������	
�	��	23��8	���� 	����	
�+���	������	
�	��������	�
�����	���
	����	��
�
	�� 	
����	������
9	(2��	���	��	������	������	�+����
	��
 �����
����8	��	��
��	+���	
��	��
������	����������	+���
	
����	
�<���

�	2�����	����	��	��+��
9	��	�������
	� ������	
��	��	���+�+������	+���	/	��
���	
���
+��9	��	����� �	
+���	��������	���	�����	
���
��	��	+���	
��	1	�
��	
�����L�9	

����

���/����4���
�53��
�

��

	 	 	
	 D���	���+�A	��������
=	

		 	

*����	���+�����9	

&7�
(�����!�7
� 		



����7�9"��GGG�

	 ��	�-	���	����	��	������	
�	
�����	��	23��	/	�������	���	�����	1	����
+���	9!�	���������	�+���	���	

����	��
	
�9&�
��	��	�9��22�����	��	���	�_	��	�����
+
���	ZZ	

	 !��	�������	�	���	�
�������		

	 #������
�	
������
��	�+�����		
�
���
�	�����	<��
���=	�����
	
�	������
�����	�������	��	�	(+
��	>�����	���
�����	?	
���A	�9	��	���	��2�����	��	�����
		
���	
��������	��	$%	(+
��	���A	��
����	#�
�9		

	

3�	����	����8">����
���"�>�	6����

� (��
�	 ���	 ��	 23��	 �������	
���	�����	��
	��	�����	
�	+������8	���	
������������	
�		��
�+����	��+������
������	 ��	 ��

���	 	 
�	 
���/8	 ����	
�+��
	
����
�	������
�������	��	����

�9	 ��	 ������
	 �9	 �����	 Q�����
��
����	�	�7������	�����	������/���	��
	��	
���	&�����	
�	�%%%		���	�������	���	���	�������	
�� �
��������7	
��+���	

���
����
	 ���	 ��

����	 
���	 �
� ������ ������
 	 ������������	 
�3�
�	 ���
�����	�����
��
�����	1	����������	
��	�
��
�	
����� ��������	�������	��	
���	
���	���	@�����	#/
�����8	
���	�������	�
�+�	1	 ���	�22��9	

	 �����	����������	
��
������	���	 �
�������	
�	2���� ���	
���	4%	
��2����	8	 ����	2
��;���8	 ���������	1	 �������	>
�	"� �����
�	1	 ���?	 
���	 ��	
"�
	:����	
�	��	5
����	>	���	���
��8	��	,�
��
�8	�� 	)�������	��	'�������?	
�_	���		��2����	����	�����
����9		

	 ��	 
�������	 �
��������
��	>�+����������?8	���	���	

����	
��	 �
��
	 ���������	 ���
	 ���
�	
�22����	 ���	 ��	 
�
��������	 ����	
���	���
�	1	�$�9����	���	�
��
�	
2�
+��
8	 ������������	 ���������	

��	���������	��	2
��;���	��	��	
��������	9	

	 ��	 ����������	 'A����
��	���	���	�
������	��	5
����	
�����	��	eD���	����� �	��	��
����	��	����
����
�	�
�����=		

3
��4��� ��
��� �	������ ����	��
������		>�<����	)�����
�8	N�+���	Y?	

3
��������� ���	�����	���	��2������	���������		>��	2�������?	

3
����
��<� ���������	
����

	
���	���	&��a���	8+�+���	��<�
��� �
�����	��	
*�
���	����
���	>)�������8	&����
��8	@���
��?	

	 ���	��������	���	�
����	���	 
��������	
��	��/�	�_	 ���	+�+���8	����	

�����	$ �%8	 ��	 
�����������
�����
�%'���%��1 
� �	 �����	 ��	 �
��
	 ����
	
��	
��
�����	
�	������������=	����	���		�
�������	� �	�������
�	������������	

�	
�2����	
�	���
�	

����	9	

	 ��	 
������������	 
�	 #��/���
��	 ��	 �	 ���	 �����	 �
�� 	 
�	 
��R��	
��
	��	��

���	
�	
���/	�����		��	������
	��/	����� 	������	>��	�	
�������
�		

����	��	������	1	��	�������	���
	��	
�
������
?	

	 (	 ����
	 �����	 �
��
	 
������������	 �	 ��L��
�	 ���
	 + �/���	 8	 1	
��������	�_	-%	%%%	��
���������	��	����	
�����	��
	 ����
�

���	�+��	���	
��
������	
�	����3���	��
	����
����9		 		

	 	 	 	 	 	 (����	

� � � � � � � � � � � � � � � � � � � 	 � 
 � � � � � � � 
 � � � �
���

���
���

���
���

���
���

���
��

���
���

���
���

���
���

���
���

��
���

���
���

���
���

���
���

���
��

���
���

���
���

���
���

���
���

��
�� ��

���	O	�������
�	
�	#�����	P	����
�
�
�����	���	�������	�
���	���
	
����������	

3�	�:���67��	����+U6���

���	��������	
�	��	����
��	=	��	
���	1	
��	���
	���	,�����A8	��	
2����		��
��	���
	���	,��
����	
��	��	����	���
	���	���<�

���	

VG�6����5"	:��6��

� ���7	 
�	 &���
����	 ��	 
�	 ��	 
��	 
��	
*�����	 ��	 ����	 
�����	
��7	 �����	 ���A	 \���	
\������	 �����
	 8	 �����	
���	 ��	 2���	 
�����	 -	 ���	

�<1	9	 �����	
���	���	
����
���	 ����������8	
������	 �	 ����
��	 
�	
����	 2����/�
	 ����	 ����

��������	 ��	 ���2	 �����	 ��	
��
�����	Z	

:�	
������	�����
	
�	��	�����	
��	Y99�����
	
�	���������		



� � � � � � � � � � � � � � � � � � � � � � �  �

���
���

���
���

���
��

���
���

���
���

���
��

���
���

���
���

���
��

���
���

���
���

���
��

�� ��

		 ���	 ����
���	 �����������	 ��	 �
����
�	 ��������	 
�	 �� �9	
*�	 ���	 �������2�����	 �+������	 1	 �������
�	 ��������� 	 
�	 ������	
��
	 �����
�	 ���
�	 
�<�������	 >��

������?	 ���	 ����
 ����8	 	 ���	
��
�	 �
��	 ����
�����	 
��	 ��������	 ���
���2�	 >������ �
�8	 ����
����8	A���8	���������?	��������
��	1	��	 �
��������	 
��	 �������8	
���	 
��
���	 �����	 ����	 
����������	 ��7	 ��������	 
�	 ����
���	 ��	

�	��
������9	

6��������%����
���
�'
����
��
��
�

3
��'
����
��
��
�%���%�� =	
	 H��	+�+���	1	��	 ��
2���	 
�	 ���	 ��	 ���	<�����	 ��	 
L ��	 ���
��
����	
���	��	
��/�����	
�	��	�����
�	�
�������	� �	
�������
������	 ��	 
�	 ��
�����	 �7�
������9	 :�	 ���	 �������	 �� 
2���	 
�	2��
;��	 ��
���
�����	 ���
	 �
�
��
�	 
�	 L� ��
�����
����� P	 ��	 ���
	
�
����
	 ���	 �

�
��	 ������
��9	 	H��	 ����	 ���	 ����	 � 7������	 ��7	
�����	 �����������8	 1	 ��	 �
�
�����	 ��	 ��7	 ���
������ 	 �����
����	
>�
�+���	
�	���8	�������
��?	9	

3
��'
����
��
��
�
����%�� ��

	 H��	 +�+���	 ��	 ��
�������	 
���	 ��	 ���	 �_	 ���	 �
���� ��	

��	 ����
���	 ��
�A�������9	 	 ��
�����	 	2���2�
���	 	 � T����������	 ��	
����	 
��	 
������8	 
T���
��	 2�
����	 
��	 �������	 
��� 	 ���	 ����
����	�
�2��
��	
�	���8	1	�
�7�����	
��	

����8	��	2 ���
���	�T���	

���	���	����
���	���	��
�������	�
��������9		

3
��'
����
��
��
���%��1 
� �
	 ��	����	��7	���	�T��	�
��+�	��
���T��	
����
��	��	 ��
�

�	 
�	<�

��9	"T��	 �T/	 �	 ���	 
�	+�
�	 
�	 ��

�	 
���	 +��
�	<�

��	
��	�T���	���	���	�����9999	H��	+�+���	
���	
��	���� 
���	+�
�������	
><�����1	 �	 �?	 	 ��	+�������	O	2��
�	 ���
�	 �
�+������ 	P
�	2�������	
��	 
�	 
��
��	 1	 ��	 ��
2���	 
�	 ���9	 ���	 ����+����	 
�� 7��+�����8	

����������	 
��	 
������	 ��	 
��7�
�����	<�����	 
���	 ��	 
L��	 ���
<��
	 	 
���	 ��	 ��
����
�	 ��	 ��	 2�
������	 
��	 ����	 V	 ��������	 
���		
�������
�	 
�	 ������/�����	 ��
	 �%������<���2�����������
���� �
��
8
%����
��
����22%�
��
���� ��
��� ���� 	 	

3 � 	 � � 4 7 	 � � � � K � � � 7 � 7 � � � � �
3 � 	 � 8 � � 	 � � � � 6 � � � � � G G G � 6 �

"���	��(��������8	(
������	>-�0�-��	�+���	���
�	�
� ?8		���	
��
�������	O	���	���������	
�	��	��

�	P	

��	���
���	��
X��	>$��$?	O	���������	�+���	���	��	� ��

��	
�7���R�	8��	���	�����	�����
�	��
	���	+�
�	
�	��

� 	P	

'�

�����	>
�<���	

��	����
���?	

8�����
���%����%����������������������
���-�
�*�

��	����
��																																							 �

� :��
�	���	�
��
�����	���������
��	��	
����
���8	
���
���	�	
��	������������	��
��������	����
������� �=		

	 ���
���	���	��	�7�������	
���
���2	8	����������
���	8	����
����������	��	����
���������	9	*���	���	 
����	
��	+��������	�8	*	��	b8	��	�3��	��
�����8	��	����
� �7	��	
����������	�����������������	��	�������2��������
�� 9	

	 ��	���	2
���	�������	
���	��	����	����	3�
�	
��������	��
	
��	������
��	���
	������
	���	����

� ����9	

	 *�	�������=		

	 ���	<�����	�������	���+���	��	�������
	��	���
����8	��������8	��
���	�����	���	�����

�	8	��	���
 �����	
>�+��	���	2�������	�������	
�
�����	��	���

�	? �<� ��	�����

3�����7����"�67�� =		

#��
	2��
����
	
�	��
��	
T�
���	��	2���	2��
�	����
 �
	
���	$%	���
��	

T���	$8�	a�	
�	2�������	
T�
����	�������	>������
	 
��	�������	<�����	
��	���	�������	1	�
�����?9	
(�	����	
T���	����A����	
�	<��
�8	2���
�
	��	����
� ����9	8													
	 �
����
	�+��	�	���
��	
�	��
��	���
	$%	���
��	
T�� �	>��	����
+�
�������	��
	��	���	����
�	���	����
���	�
/������ �����	�
�����������8	������8	��������	�����	��	���
���?9	(+ ��	��	
�����8	
+���	���+�A	���������	�������
	��	�
���
�����	��	�� ��+����
	
�	
�
��������	�
R��	1	��	
�������	��	����	����
��7V			 																							
	 �
����
	$	���
�	
�	��
��	���
	$%	���
��	
T���	>��	 ���������
�	
��
������������	���	����
����	���+�
�������	2���	�� 
	���	2�������?V				
	 �����	
�������8	��	��
��	
T�
���	2��
��	��	���	��� �+����
	
�	

������� ��

�
�
������ �
 �� ��� ������� ��
�� 
V'����

� �
��
�����
 ��<��
������� 
�<��
���
������
�<��
���
�=
�����
��
���
����
%�����������
��
��
 �����
�2�����
�� �� ����
� 
�'�����


��� >	
�����	 ��	 ������8	��
�����	
��

����	 ����	 ������	 
�	 �	 ������	 
�	 +�
�	 
�	 ��

�	 1 	
�T�����
�	1	�%	a�?		

9��	 ��
�����
����G 	�������	
�	+�
�	���	����	1	2���	������
���	��	����
������8	��
	���	
�+�
���	�
�����	����
� ����
����	������	���	2
�������	
�	
������	��	+���	
�	
�� ���
��������9	 ���	 �����
���	 
�	 ��	 
������������	 ���
��� ��	

��	 ��A/���	 ���	 ��
+���	 
�	 ^��������^	 ��7	+�
�	 ���	 ���	

�+�
���	 ��	 �
���2�
����	 ���	 ��������	 
�������	 ��	 � ��	
�����	���
�	���
�
�	���	���	��	�������
�	
�	��
���� 	��	

T�A���	 ���
	 ���
�����
	 ��	 ���	 
�	<�

��	 ��	 ���	<�
 
�����

��9	

3�%� ������� �
�� 
� A�  �%
�� ���	 ���	 ���
�	 �����������	
�
��	�
���������	9	�����	�����������	���	����	����� �����	
��	����������	���	���	�
���������	����������9	"��	� 7���

����������	���	��	���
�	
���	��	+������	
�	������� ���79	

3���
����������������
A�������������������
�� =	
��	�7���

������	
������������	
�	+�
�	���	���	������	��	H�
 �	

���	���	�����������	
�	���	�2��	
�	
�
��
�	
�	�%G	 ��	

����
�	1	
��	2�
���������	���������	9(�	����	
�	-	 ���	��	

����������	�	��������	
�	��G	1	�4%G	��	���	������� �	

��/������	��	�����������	
�	���	��	����	 
������������9		

�

!��	+�
��	����
�������	��
	��	
�����
�������	
�	��� 	
����	�+��	����
������
�	�������+� =	

����=66XXX9a�
���9���6+�
��6���
������/���� 		

VG�3�"�67��<�3��4�3��74����



� � � � � � � � � � � � � � � � � � � 	 � 
 � � � � � � � 
 � � � �
���

���
���

���
���

���
��

���
���

���
���

���
���

��
���

���
���

���
���

���
��

���
���

���
���

���
���

��
�� ��

3����976��6��������"	�87�733�	�4�7	"�	�����3�	��

)
�����
		�����
�	��
	��(����������	#�
��������	1	�� 
��
	8	���
�	���
��8		
�	
�������	
�	�(!*		

O	�������	
�	��/�	
��	������7?																					 																													> 1	���+
�	
���	���	�
�������	����
�� ?	�

� �����	
���	
�	����
��7	+�������	
�	��/�	
��	������7 	
8	 ���	 �������	 ����	 ��������	 	 ��
	 ��	 	 �����	 
�	 �
3�� 	 8	 
�	 ��
�	 ��	

����
�		
�	��	
��	9		

	 ���
�	2�;�
��	�
�������	��	��
	8	�����	���
����		� �	
��	
1	��	�����	��	��7	+����	
��������	
�	�������	��	
�	 ��

	9		

	 ��	 ������8	 ���	 �
�����	 ��	 ���	 ����7��	 ����

���	 �� �	
���
	8	�����	�
������	
�	���+���	�����9	!�	<�

��	� �����
	��	��	
+�
��
		�
��������	��	��
�����	9	

	 (	 ����+�
��	 
��	 2�;�
��	 ��
	 ��	 ���8	 ���	 ��
�	 ��

	 ��	
�����	����	���	��
����		

	 	 ����	 �����	 
�����	 
�	 ��/�	 
��	 ������7	 �_	 ��	
�
��������	 ���	 ��
������
�	 
�+�
��2����=	 ���+���8	 � ����
�	 ��
���
���
�8	 +����8	 �
��
���8	 ���	 �R�������	 
�+�����	 
��� �

�	 1	 ���	
������=	 	 ���	 ��
���	 2�
���	 ���
	 ��	 ������	 ��	 ���	 �� �+��78	 	 ���	
��
���	����	��+�
��	�_	��	�
��+�	���+���	��	��
���	 
����
��	�+��	
1	�������	 ��	2����	9��	2����	 ���	 ��
�	8	��
	 ��	 �
�� ����	 
�	 ������	 
�	
����	
��������	��	��

�	��	��	�������	8	2�
����	��
 2���	
��	
���
����	
����
����		

	 ��	+����
�	��	��	��
���
��		��7	�����	
���
��	
�	� 
������	
2�
����	���+���	�����	���
	8��	��
		9	

	 ���	 ����
���7	 �����/��	 ���
	 ��	 �����
�
������	
�	���	�������	����	����	��7	
�����
���		

�	 ��

��
=	 �
����	 ��	 ������	 
�	 ��(
��
	 ��	 	 
�	
��(

��9	

	 ���	������	�������	�
������������	������
���	��
	���	2�;�
��	��

	��	�����	��	��	�������
������	
�	�%	1	�%	��	
�	������
	9		

	 (��
�����	 
�	 ��	 ������������8	 ���	
��
�	����	������	�+��	
�	 ���
����		�
��	 	����	��	
����	8	����	��	��
����8	����	��	�
����9	:��
�	���	
�+������	 ����������	 	 ��	 ��

�	 �
��	 ��
���	 ���	
�
��������	��	2
��
	�����	1	��	������
	9		

	 #��
	
���
�2��
	��	��
����
�	8	���	������	

�	 �R������	 ����	 ��
2���	 
��2�
���	 ��
	 
��	

����
���7	 ����	 ����
��=	 ���
�

��	��	�
�����	9	

���	�R�������	�
�������	�����
	
�	��	��
�����	����	 	
��+�
��	��
	��	���
	�7�����	��	������	

	 	 	 ������		H&�*�			

3���7	���

� "�
	 
��	 2��
������	 ��	 ������8	 ���	 ���3�����	
���	 
��������	 
�����
���8	 ���	 ��
�	 �����	 
���	 ����� 	 0%	
��	����	
��������	��
	
��	��22
����	��	����	>������ �?	1	
������
���
	
�������	���
����	��
�	8	����
�����	��� �
�2���	
���	 ������	 ��	 �������	 ��������+��	 	 ��	 ������	 �+��	 � �	
O	�����
	P	��	����9	���	�
���	����	�������	���
	��� 	����	
�	

��22
���	 9	

*���

������	��	�
����		=	��������	�����	

��	2�����	

����������	��	��
����=	���A	
�9	��	���	#�

��=	>��R����	
����

�?	

5�����	���
	���
�	���	������

8�/�9�2���/�:�

*���

�����	��	���

�	
>������	&�
���?	

3��6"��97	��

� ���
����	���	���	��������	��	
����������	

���	���	��
�	��	���������	=	��	��

�	���	��
��
��	
�+��	
��	�
���	
�	������	��	������	�+��	���	������� 	
��	����	1	������
���
	9	

	 ���	����������		����	���+���	��������	1	
�������	�+��	���	������
�	��	����	8	��	��3��	��	��� �	
���+���	9#�
2���	��	
����������	���	
������	��	�
��
����	������	
�	��

�	�����	>
���	���	�����
���	
�	
+������?	9 	



� � � � � � � � � � � � � � � � � � � � � � � " �

���
���

���
���

���
���

���
���

��
���

���
���

���
���

���
���

���
��

���
���

���
���

���
���

���
���

��
���

���
���

���
���

���
���

���
��

�� ��

3���"5���

	 ���
���	���	���	�
����	
�	��

�	�
��	������	1	��	
����	8	
�	
��������	+�
�����	��	������	��	������	9	 *����	
����	���+���	2��
������	1	���+����	9	������
������� 	��	2���	
�
����	��
	�
����	8	<�����/���	��
	��	��
���
	
�	�� 

�	��	

�	����7	
�	�3��	������
9	

	 #�
2���8	
��	������	
�	��

�	����	�
�����
��	
���������	1	
��	������	����	
��������	��	
����
	��� 
	
���
2�
��
	��	����
���	
�	��
	9		

3�	���3�6	��

	 ���	������	����	
�����	��	����	����	��	�����	
2�������	8	�+��	��
2���	����
�����	
�	�
��	��	����� �	
������8	��
	
��	����	
�		�
�����	��	��������	��
�A� ����7	
���

��	1	��	����7	��	�����	
�	��/�	9	

	 ���	���������	
����	
�������	��	���

��	

�
��	��	��	�
�����	
�	
��

�	�����	9	

	 #�
2���	8	��
	
���	��
�	�

��
�	��	���	
��
�	
�	��L��
�8	��	��/	�	
���	
���
���	8	���
	
���
��
	��	�22��	
���
���2	9		

3�	�����76	��

� ����
���	 �������	
�	����7	��	
�	�����	

�	��/�	��
���	��	��
	
�	
����
�
	����	��	��	
�
��������	
�	������
���	9	

	 '�����	
���	��	�����	
�	������	����
���
��	��
	���	
����
�����8	��	���	����	����
�	��	����	
�
�+�����	��
	���	��
�	
�	��	������	9	

	 *�	
�����
�����	
�	�R��	������8	��	2���	
�+���
	
��������
	��	������	���	���3���	��	
�����

�����	
��	��
�	9		 �

� � 3�	�	"3	�

� *�	 
�A	 
�	 ��������	 	 8	 ���	 ����	
����	��	����
��	
�������	��	��

���7	
�	
��

�	�����							>2��
�����	1	#��/���
��	
1	 ��	 �����
��	 ����	 ��	 ����	 ���+���	 	 ��	
����	��

	��
	��	2��
����	:�����	1	'�
�
���?	�����	��
	��	���	
�	�����	��	
�	����7	9	

	 (	 ���7��
���
	 8	 ���	 ������	 �����	 ��	 �����	 ��
	 ��	 � ����	 8	 >��	
����
�?	����
���	��	��
���������	
�	���	����	��	�
� �������	
�	��	����	
��	��	
���
���	��	
�+���	
�	��
��	9	

	 *�	 
�����
�����8	 ���+���	 8	 ���	 ����
��	 ���	 ���	 
�� �������	
��
	
��	�
�����
�	��	������8	��	���	 ���
�+�	���	
��������	
�����
���9	 �

3�	�6"76	�

� ���	�����
��	����	1	
��7	������	8���	2�;�
��	��
���
�����	��	2�]����	>��	������
��� *� *����	
����	��	�
������	
�	
����
�����	��

��
��	��	�����
���	8	��	����
���	
�	 ���+�
���

�	��	����	���
���	���	��	�����	�����8	�����	��
	�� 	������	��	
����	9	#�
2���8	���	��
�����	>�3�����?	�����
��	��	 
���

	
�	
����	9	

	 "�
	���	�����	1	����	2�
��	�����8	��	�
��+�	
�	��� 
�

����	������	��
	���	+�����	
�	�������
	��	
�	����� 	9	

	 ��
������	�������	�������	���	
��7	��
���	
�	����� �

�=	�

����	��
	��	�
���
��	8	�����	��
	��	������	

�����������	��	+���	

+�
��	 9	

 ������������������	
�����
���	�
�	�����+	;���

*
���������������
��������#�
��
�/	�%����
���	�����8�	�����
+	;� :�

*
��������������
	���
�	���	�����1���	������

 ���
���	���������
���	��	�����
��2���/���	��<��
��=���	���
���������� 	����������2	��	�	��8�/�9�
 �������:�

��
	�7��
���
	
�	��	�
����	
�	
��	������	5�����		>���A	�	��	
���	)������ ��:�

5	�	
���/�9� ����� ���3201���

�5�;�
�	��
	�
������
���	
����	�
�����	��	
��������	
�	��
�	��	

����
�	
�	��	��
��	
��
	���	2��3�
��	��	
���	����
���	9>������		
*��
�����	=	���	���

�����	?	

�����>�"�����������	�
������
'8�	�����
�� ����� ���
*�
���������:�

��
	
�	��L��
�	��	������	
>������	&�
���	?	



� � � � � � 
 � � � � � � � � � � � � 	 � 
 � � � � � � � 
 � � � �
���

���
���

���
���

�� 
�



��
���

���
���

���
���

�� 
�



��
���

���
���

���
���

�� 
�



��
���

���
���

���
���

�� 
�



��
�� ��

4�7�7���
%�94�9--9��9�0	

% 9��94%9�49�-	
5�7=	%�94�9--9��9�4	

	
"��
����
��=		

+���
��
�5�33�	6���
��
A�������5��7���

�
���
������/���
��WX���
��92
 	

	
���
�	=	 �	1	$$�		�$4�	1	$��	

��

�	=	 �	1	$$�	
\��
�	=	 �	1	$$�	�		$4�	1	$��	

D��

�
�		=	 ��$$�	
	

�
�
��
��
��� �
���
��
��

� 	=	$��-%	�	$ �	
'��	
�	�9	��	���
� ���

%49�-9-�9009��	
(��
��	<��
�	=	��
	
��
�A�+���	

����

4���
�K�����
�5��"���6�

>���������
�	,���
���	

#
���
����	
�	"HD:�		?	
%�94�9 49�%9%�		%�9�49$�90�9$�	

#�
�������	1	��	���
��		
��		\��
�	
�	$��	1	$ � ��

�������������������������������������������������

3���"	6���

%�94�9--9��9�$	

)���+��
	=	

	��
��
	�*��*)�		

>����	1	(�
������?	

��	 �	1	$��		��		


�	$-�-%	1	$4�-%	

"���
�	=	
�	 �	1	$��	

��+���	=	$���%	

3��������4��7��

%�94�9--9��9$�	

������
���	
�	�
���
�	>�����	1	'��
��/	?	=		

(
<�
���	������	�(N:!.(D*	

��	��	1	$��	��	
�		$0�1	$��	>��
��
��	��
���?	

#�
�������	������������	��	�������		

	
�	$��	1	$0�	��	
�	$��	1	��	������	
�
����	��
	'�� 
��/	��	'�
���		

�57537"69W:���
% 94-9��9 �9%4	

)����������=		

��
A�������5��7���

����	=	�������������
���/���
��W�
����92
 	

:�+�
��
�	��	������	=		

���
�	��	D��

�
�	V	

��	$4�	1	$��		��		

��
�
�
�	
�	$0�	1	$4�	

&�����������	������
�	=	

\��
�	
�	$$�	1	$��	��		

��	$0�	1	$4�		

	

3���X�9�66��7���

���
�8	��

�8	��
�
�
�	��	D��

�
�	��	$0�	1	$��		

"���
�	
�	 �	1	$��	��	
�	$0�	1	$��	

3���4��

'��=%�94�9--9� 9�%	

)����������	=					���	(,:"'(			

���
�	��	��

�	=	
�	 �	1	$��	�		

\��
�	=		
�	$0�	1	$4�-%																												 																																																			 																							

#�
�������	������������=		


�	���
�	��	D��

�
�		

	
�	 �	1	$��	�	
�	$0�	1	$��	

3���+��6����33��

#
���
���=	��
������	5:),!*"	6%�94�9--9�-90-	

'
���
��
�=		

��f��	H.,()(:		>%�94�9--9�0940? �

���"3���
%�94�9--9��9�4	

��
�����
	=		

��������9���7���

����	=	

��9%4�%�$4\W���
��������92
 	

��57��6�4��7��3��

�!G@�G00G��GB��

�!G@�G00G��G@,�

��57��6����6�7�����

�!G@�G00G��G@��

��57��6���7�+7�47���	��

�!G@�G00G��GB@�

3���� 

�
���#�'� ��Q�
D���	�+�A	��	��<��	���	+���	����
��A	���

�
8	��	�
 �����	1	�
�����
8	���	����
���	��	
��	���+���
	1	��
����
8	�T������A	���8	���	�������� 	�����	����	���	+L�
��9	
#��
	��	2��
�8	+���	���+�A	��������
	(����	��

�
�	 ��	%�94�9--9��94�	��	������	!

��
��
���	��	%�94�9--9��9 �9	

	 � � � � � �	 � � � � � �	 � � � � � �	 � � � � � � � ���
� � � � � �� � � � � �� � � � � �� � � � � � ���� � � � � � � � � �� � � � � � � � �� � � � � � � � �� � � � � � � � � � ���

�
�������	���������	���������	���������	�� ����������������

6
�����8��� ������3 ��
�97Y�67�7��
�
,!�
�����,��

�
����� ������� ������� ������� �� �

�	����/	 4��
�
��
�8�'�-�
��>69����

��

K����K��Z&������
��3�����6�
�
��(�
�����,��

�
=�8������
��

�� 
��
�4���6�


��
K��1 
��3� �����733��4��

�
�,��J ���
����,��
�

=�	��������3+"�	"�

��

3� �
���3� �����N�3��
�
�,,��
��

��
���,��������

�

��	���!��	���!��	���!��	���! ����
K
���4��67�3��
�,0���[����,��

����
��
����������
����������
����������
��������� ���

���	�
��
����
����	���	
���
���	�������
	��	
���������	
�	���
�	���������2����	
���	��	

<��
���	O	#��/���
���H�2�	P	����	�
���	
�	����	
+�����
	��	��2�
��
	��	���
��9	���
�	��2����	

�T��������	����	#��/���
��8	��	���
��	�T���	����	
��2�
���	�22�����������	
�	���	���������� � �����

���4������	���36�\��

	 (����
	���	��	��
���	
����
�	

�������	��	��/�	
��	������7	���
	����

��
	���	������������	
���
��	2�������
��	
���
	��������
�����	
�	���������	9		

	 �����	��
�������	���	����
��	
��
	���	':!N(		���	2���	��
	����	1	

#��/���
��	
���	��	�����	
�	��	���
��	
�	
 �-%	1	$$�-%9	

#
��������	
����=	��

�	$ 	:����
�		

	 	 ��

�	�$	������
�	 ��

�


